BIOLOGY

BOOKS - ARIHANT NEET BIOLOGY (HINGLISH)

PHOTOSYNTHESIS IN HIGHERF PLANTS

Check Point 20 1

1. Name the cells that act as kitchen of green plants

A. parenchyma cells
B. mesophyll cells

C. pith cells


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_sPdn2HX9z9ze

D. epidermins

Answer: B

° Watch Video Solution

2. The fluid containing

chloroplast is

A. thylakoids

B. cytosol

C. cytoplasm

D. stroma

Answer: D

proteinaceous

matrix

of



https://dl.doubtnut.com/l/_sPdn2HX9z9ze
https://dl.doubtnut.com/l/_OaE1wRLXJxjG

I o Watch Video Solution

3. Which of the following statements is false about

structure of chloroplast ?

A. It is a double membrane bound organelle

B. A stack of thylakoids in chloroplast form a lamella

C.Adjacent grana are connected by unstacked

membranes

D.The light absorbing pigments are present in the

grana

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_OaE1wRLXJxjG
https://dl.doubtnut.com/l/_MI1YenNJgJ3e

4. The site of light trapping in chloroplast is

A. thylokoid membranes

B. stroma

C. plasma fluid

D. stromal lamellae

Answer: A

o Watch Video Solution

5. Name the part of chlorophyll, where electron

rearrangement takes place when chlorophyll gets excited


https://dl.doubtnut.com/l/_MI1YenNJgJ3e
https://dl.doubtnut.com/l/_fym3VMUMZujk
https://dl.doubtnut.com/l/_IbsXZ9G09kyd

A. Mg atom

B. porphyrin ring

C. phytol chain

D. hydrocarbon

Answer: B

o Watch Video Solution

6. The proteins with which the phytol tail of chlorophyll
molecules interact are present in which part of the

chloroplast ?

A. Stroma


https://dl.doubtnut.com/l/_IbsXZ9G09kyd
https://dl.doubtnut.com/l/_TBdJmuAGJVyF

B. Thylakoids

C. Outer surface of chloroplast

D. Attached to the ribosomes of chloroplast

Answer: B

o Watch Video Solution

7.The major difference between chl-a and chl-b is that chl-

a has

A. methyl group bonded to porphyrin

B. aldehyde group bonded to porphyrin

C. alcohol group bonded to phytol


https://dl.doubtnut.com/l/_TBdJmuAGJVyF
https://dl.doubtnut.com/l/_UyvqQXgggwht

D. aldehyde group attached to tail

Answer: A

° Watch Video Solution

8. Which of the following groups of pigments represent

accessory pigment ?

A. chl-b, carotenoids and phycobillins

B. chl-a, and carotenoids

C. phycobilins and carotenoids

D. xanthophylls only

Answer: A



https://dl.doubtnut.com/l/_UyvqQXgggwht
https://dl.doubtnut.com/l/_yHqc2w0SFfzW

I o Watch Video Solution

9. The yellow colour of autumn levaes is due to

A. fucoxanthin

B. lutein

C. lycopene

D. zeauanthin

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_yHqc2w0SFfzW
https://dl.doubtnut.com/l/_hSvtect69lKH

10. According to Emerson the fall in quantum yield above

680 nm is called

A. photosynthetic drop

B. Emerson drop

C. Warburg effect

D. red drop

Answer: D

° Watch Video Solution

11. The term quantasomers was given by

A. Ruben


https://dl.doubtnut.com/l/_kQo3jHyqDJ7E
https://dl.doubtnut.com/l/_Bj2TzJ1p8ruM

B. Park and Biggins

C. TW Engelmann

D. Emerson

Answer: B

o Watch Video Solution

12. Which photosystem is found to be located on the

outer surface of thylakoid ?

A. PSA

B. PS-I


https://dl.doubtnut.com/l/_Bj2TzJ1p8ruM
https://dl.doubtnut.com/l/_katw4o5js40Q

D. Both (a) and (b)

Answer: A

° Watch Video Solution

13. Photosystem usually involved in both cyclic and non-

cyclic photophosphorylation is

A. PS-

B. PS-I

C. Both (a) and (b)

Answer: A



https://dl.doubtnut.com/l/_katw4o5js40Q
https://dl.doubtnut.com/l/_8pOviotd0z4v

I o Watch Video Solution

14. Water splitting is concerned with photosystem

A. PS-I

B. PS-lI

C. Both (a) and (b)

D. None of these

Answer: B

° Watch Video Solution

Check Point 20 2



https://dl.doubtnut.com/l/_8pOviotd0z4v
https://dl.doubtnut.com/l/_g7KD3AURFv1J
https://dl.doubtnut.com/l/_XbCrxaFYim5r

1. During photosynthesis which of the following event

does not take place ?

A. Oxidation of C'O,

B. Reduction of CO,

C. Oxidation of H,O

D. Light absorption

Answer: A

o Watch Video Solution

2. During electron transport system ?

A. reduction of NADP occurs


https://dl.doubtnut.com/l/_XbCrxaFYim5r
https://dl.doubtnut.com/l/_3Tr3Y7PXRqLp

B. oxidation of ADP occurs

C. phosphorylation of NADP occurs

D. hydrogenation of FAD occrus

Answer: A

o Watch Video Solution

3. Who demonstrated photolysis of water ?

A. Robin Hill

B. TW Engelman

C. Melvin Calvin

D. P Mitchell


https://dl.doubtnut.com/l/_3Tr3Y7PXRqLp
https://dl.doubtnut.com/l/_RXFnALw0yqHQ

Answer: A

o Watch Video Solution

4. The first electron acceptor in non- cyclic electron

transfer is

A. cytochrome-bg — f

B. plastocyanin

C. NADP

D. plastoquinone

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_RXFnALw0yqHQ
https://dl.doubtnut.com/l/_2azWj885evEY

5. Cytochrome carries electrons on Fe-atom , whereas

A. magnesium

B. copper

C. mangenese

D. iron

Answer: B

° View Text Solution

6. During cyclic photophosphoylation energy rich

electrons form PS-l are first transferred to ........

A. Ferredoxin reducing substance


https://dl.doubtnut.com/l/_lIDdIa6918y4
https://dl.doubtnut.com/l/_WSYQIDFnBaOg

B. Cytochrome

C. NADP

D. Primary electron acceptor

Answer: A

o Watch Video Solution

7. Which of the following is a prominent difference

between cyclic and non - cyclic photophosphorylation ?

A.No formation of NADH in cyclic

photophosphorylation

B. Cyclic photophosphorylation occurs in grana


https://dl.doubtnut.com/l/_WSYQIDFnBaOg
https://dl.doubtnut.com/l/_kDTRnVZy7fXI

C.Non - «cyclic photophosphorylation requires

anaerobic condition

D. Cyclic photophosphorylation is inhibited by DCMU

Answer: A

o Watch Video Solution

8. The concentration of protons is usually very high in ...

A. thylakoid lumen

B. stroma

C. granal membrane

D. cytosol


https://dl.doubtnut.com/l/_kDTRnVZy7fXI
https://dl.doubtnut.com/l/_MXPOBWHdcztj

Answer: A

o Watch Video Solution

9. DCMU is a herbicide, which blocks electron flow from

A PS — IT — PQ

B.PQ — Cuyt.bs — f

C.PS—-I— FRS

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_MXPOBWHdcztj
https://dl.doubtnut.com/l/_HIYVPnmn5G07
https://dl.doubtnut.com/l/_Pz97GAbYJ4vz

10. Which of the following photosynthetic inhibitor group

damages PS-l ?

A.CMU

B. Paraquat

C. Atrizine

D. All of these

Answer: D

o Watch Video Solution

11. Name the scientist who discovered dark reaction in

1905.


https://dl.doubtnut.com/l/_Pz97GAbYJ4vz
https://dl.doubtnut.com/l/_R7GidSfr2hVh

A. Blackman

B. Van Neil

C. Melvin Calvin

D. Engel man

Answer: A

o Watch Video Solution

12. The five carbon containg primary acceptor of COs in

Calvin cycle is

A.RuBP

B. OAA


https://dl.doubtnut.com/l/_R7GidSfr2hVh
https://dl.doubtnut.com/l/_dG9IWcoYUN4A

C. PEA

D. RuBisCO

Answer: A

° Watch Video Solution

13. The steps of dark reactions are

A.regeneration — carboxylation — reduction

B.reduction — oxidation — hydrogenation

C. carboxylation — reduction — regeneration

D. reduction — carboxylation — regneration

Answer: C


https://dl.doubtnut.com/l/_dG9IWcoYUN4A
https://dl.doubtnut.com/l/_Qmx0S0iyHv81

o Watch Video Solution

14. Enzyme involved in the formation of Fructose 1, 6-

diphosphate from phosphoglyceraldehyde is

A.isomerase

B. aldolase

C. RuBisCO

D. phosphatase

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Qmx0S0iyHv81
https://dl.doubtnut.com/l/_s3aovZMNzBfl

15. Turns of Calvin cycle required to produce 7 glucose

molecules are

A .42

B.35

C.30

D. 60

Answer: A

o Watch Video Solution
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https://dl.doubtnut.com/l/_DQQa0VpPVlpU

1. Which of the following correctly explains the reason why

C, - pathway is name so ?

A. it requires four turns of Calvin cycle to produce one

CeH1205

B. First stable compound is 4C

C. Primary C'O, acceptor is 4C

D. it requires four raw materials

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_49cXH0meJJbi

2. Name the scientists who first worked out the C; -

pathway ?

A. Melvin Calvin

B. Robin Hill

C. Linnaeus

D. Hatch and Slack

Answer: D

° Watch Video Solution

3. The primary CO, acceptor in CO, fixation in Cy

pathway is


https://dl.doubtnut.com/l/_7KPd8D5iJE6F
https://dl.doubtnut.com/l/_z0q7YKDhh0zY

A. oxaloacetic acid

B. citric acid

C. RuBP

D. Phosphoenol pyruvate

Answer: D

o Watch Video Solution

4. The enzyme that catalyses carbon dioxide fixation in Cy

plants is

A. aldolase

B. PEP carboxylase


https://dl.doubtnut.com/l/_z0q7YKDhh0zY
https://dl.doubtnut.com/l/_D2PyYQP6KE62

C. RuBP carboxylase

D. isomerase

Answer: B

o Watch Video Solution

5. Enzyme that catalyses secondary CO, fixation in Cy -

pathway is

A. aldolase

B. PEP carboxylase

C. isomerase

D. RuBP carboxylase


https://dl.doubtnut.com/l/_D2PyYQP6KE62
https://dl.doubtnut.com/l/_BkWsj462Pie9

Answer: D

o Watch Video Solution

6. Optimum temperature for photosynthesis in Cy4 plants

is

A.10 — 20°C
B.15 — 25°C
C.30 — 45°C
D.50 — 60°C
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_BkWsj462Pie9
https://dl.doubtnut.com/l/_KrWre8VfDCFc

7.The plant family that does show CAM pathway is

A. Crassulaceae

B. Euphorbiaceae

C. Cactaceae

D. Gramineae

Answer: D

° Watch Video Solution

8. The enzyme that converts oxaloacetate into malic acid

is

A. malic dehydrogenase


https://dl.doubtnut.com/l/_4mU1HCUcmFuY
https://dl.doubtnut.com/l/_IImdBBLbV9SS

B. oxalophosphatase

C. malic phosphatase

D. RuBP carboxylase

Answer: A

o Watch Video Solution

9. The scientist who first observed photorespitation is

A. Dicker and Tijo

B. Otto Warburg

C. Ruben and Kamen

D. Joseph Priestly


https://dl.doubtnut.com/l/_IImdBBLbV9SS
https://dl.doubtnut.com/l/_AdBZJgekMg8f

Answer: B

o Watch Video Solution

10. How many ATP and NADPH are formed during

photorespiration ?

A. 3 and 6 respectively

B. 4 and 5 respectively

C.1and 9 respectively

D. zero

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_AdBZJgekMg8f
https://dl.doubtnut.com/l/_V83T7MBY0vig

1. The organelle where glycolate convert into glycine

during photorespiration is

A. chloroplast

B. mitochondria

C. peroxisome

D. nucleus

Answer: C

° Watch Video Solution

12. The reaction centre of bacteriochlorophyll is


https://dl.doubtnut.com/l/_6TF87h4K1OiB
https://dl.doubtnut.com/l/_iqlGVLgDI3uP

Answer: B

o Watch Video Solution

13. Photosynthetically active radiation (PAR) represents

the following range of wavelength

A. 700- 900 nm

B.400-700nm

C. 200-400nm


https://dl.doubtnut.com/l/_iqlGVLgDI3uP
https://dl.doubtnut.com/l/_mfs2umN8zDiw

D. 600-900nm

Answer: B

° Watch Video Solution

14. At comphensation point

A.respiration is more than photosynthesis

B. photosynthesis is more than respiration

C. photosynthesis is equal to respiration

D. No photosynthesis

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_mfs2umN8zDiw
https://dl.doubtnut.com/l/_Bmj38hqdD1aZ

15. The principle of limiting factors was proposed by:-

A. Warburg

B. Blackman

C. Decker and Tijo

D. Liederburg

Answer: B

o Watch Video Solution

Chapter Exercies A Taking It Togather


https://dl.doubtnut.com/l/_Bmj38hqdD1aZ
https://dl.doubtnut.com/l/_Les0C2LObaGw

1. The most unique feature of photosynthesis is

A. production of oxygen

B. production of food

C. conversion of light energy into chemical energy

D. All of the above

Answer: D

° Watch Video Solution

2. The source of energy for carbon assimilation is

A. water


https://dl.doubtnut.com/l/_XWQOjBITY8V2
https://dl.doubtnut.com/l/_ltoNxhPRKPN1

B. sunlight

C. carbon dioxide

D. chlorophyll

Answer: B

o Watch Video Solution

3.In photosynthesis , chlorophyll serves as

A. hydrogen acceptor

B. hydrogen donor

C. energy converter

D. raw material


https://dl.doubtnut.com/l/_ltoNxhPRKPN1
https://dl.doubtnut.com/l/_qRg5TZNRw72B

Answer: C

o Watch Video Solution

4. If all the plants are to die, all the animals will also die

due to deficiency of

A. carbon dioxide

B. nitrogen

C. oxygen

D. Both (a) and (b)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_qRg5TZNRw72B
https://dl.doubtnut.com/l/_s0gaELyAHM07

5. Plants are know as purifiers for air due to process of

A. Respiration

B. Photosynthesis

C. Transpiration

D. Desiccation

Answer: B

° Watch Video Solution

6. Which of the following equations sums up

photosynthetic reaction most accurately

Light
A.6CO, + 12H,0 ——— s CxHy,04 + 60, + HyO
Chlorophyll


https://dl.doubtnut.com/l/_uR6RjQD8dJFo
https://dl.doubtnut.com/l/_2X4DJb0b4gHm

Light
6COy + 12H,0 —2 . s HypOg + 6HyO + 60, T
Chlorophyll

Light
C.6C0, + 6HyO — s CuHi504 + 60, T
Chlorophyll

D. None of the above

Answer: B

o Watch Video Solution

7.The sequence of energy change in photosynthesis is

A. light -electrical chemical

B. light -chemical

C. light -electrical


https://dl.doubtnut.com/l/_2X4DJb0b4gHm
https://dl.doubtnut.com/l/_vDppNwCIt43z

D. electrical -chemical

Answer: B

° Watch Video Solution

8. During photosynthesis

A.water gets reduced and carbon dioxide gets

oxidised

B. CO, gets reduced and water gets oxidised

C. Both (a) and (b)

D. both carbon dioxide and water get reduced

Answer: B


https://dl.doubtnut.com/l/_vDppNwCIt43z
https://dl.doubtnut.com/l/_puAsRqASXdq3

o Watch Video Solution

9.The first experiment on photosynthesis in flashing light

were carried out by

A. Robert Hill

B. Melvin Calvin

C. FF Blackman

D. Emerson and Arnold

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_puAsRqASXdq3
https://dl.doubtnut.com/l/_HOyVfuT1s4ce

10. Which of the following scientist confirmed that O,

comes from water during photosynthesis ?

A. Van Neil

B. Ruben

C. Hill

D. Ruben and Kamen

Answer: D

° Watch Video Solution

11. A photosynthesising plant is releasing .'* O more than

the normal. The plant must have been supplied with


https://dl.doubtnut.com/l/_fupzCQe4pwNp
https://dl.doubtnut.com/l/_Gt2AGabOXrl0

A. O
B. H,O with .1¥ O
C.CO, with .12 O

D. CZH12O6 with .18 0.

Answer: B

o Watch Video Solution

12. Photosynthetic pigments in chloroplast lie embedded

in

A. chloroplast envelope

B. plastoglobule


https://dl.doubtnut.com/l/_Gt2AGabOXrl0
https://dl.doubtnut.com/l/_jw8kosR6JEaI

C. matrix

D. thylakoids

Answer: D

o Watch Video Solution

13. Which metal ion is a constituent of chlorophyll?

A.lron

B. copper

C. Magnesium

D. Zinc

Answer: C


https://dl.doubtnut.com/l/_jw8kosR6JEaI
https://dl.doubtnut.com/l/_Y3CuyPC4dTQf

o Watch Video Solution

14. Water soluble pigment is

A. chlorophyll

B. carotene

C. phycocyanin

D. xanthophyll

Answer: C

o Watch Video Solution

15. Carotenes and phycobilins are also known as


https://dl.doubtnut.com/l/_Y3CuyPC4dTQf
https://dl.doubtnut.com/l/_0ABaWJh364Tj
https://dl.doubtnut.com/l/_qMYCHN0OBKeX

A.respiratory pigments

B. accessory pigments

C. photosynthetic pigments

D. necessary pigments

Answer: B

o Watch Video Solution

16. The graph representing absorption of light at different

wavelength is called

A. absorption spectrum

B. action spectrum


https://dl.doubtnut.com/l/_qMYCHN0OBKeX
https://dl.doubtnut.com/l/_fovLAuKi6GqP

C. Both (a) and (b)

D. None of these

Answer: A

° Watch Video Solution

17. Chlorophyll molecules absorb light maximum in

A. green region

B. orange region

C. yellow region

D. red and blue region

Answer: D


https://dl.doubtnut.com/l/_fovLAuKi6GqP
https://dl.doubtnut.com/l/_IxVrfojTQKkr

o Watch Video Solution

18. The graph showing rate of photosynthesis at different

wavelength of light is called

A. absorption spectrum

B. action spectrum

C. Both (a) and (b)

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_IxVrfojTQKkr
https://dl.doubtnut.com/l/_t9O0l61mvPlx

19. Which of the following is least effective in

photosynthesis

A.Sum light

B. Red light

C. Blue light

D. Green light

Answer: D

° Watch Video Solution

20. Which light range is most effective in

A. Blue


https://dl.doubtnut.com/l/_3RF3KPQuifBx
https://dl.doubtnut.com/l/_oytV5KRQxSFL

B. Green

C.Red

D. Violet

Answer: C

o Watch Video Solution

21. The photosynthetic unit having 250 chlorophyll

molecules is called

A. photon

B. quantasome

C. peroxysome


https://dl.doubtnut.com/l/_oytV5KRQxSFL
https://dl.doubtnut.com/l/_LetpzW95KbW3

D. oxysome

Answer: B

o Watch Video Solution

22. Maximum O evolution occurs from

A. forests

B. marine phytoplankton

C. crops

D. land mass

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_LetpzW95KbW3
https://dl.doubtnut.com/l/_Pf3O8KDqGpur

23. Cyclic photophophorylation is confined to

A. PS-l

B. PS-I

C. Both (a) and (b)

D. none of these

Answer: A

o Watch Video Solution

24. Products of light raction in photosynthesis are


https://dl.doubtnut.com/l/_Pf3O8KDqGpur
https://dl.doubtnut.com/l/_NUhwIkMWAZzg
https://dl.doubtnut.com/l/_7wDAa2GX9glv

A.ATPand NADPH,

B. ADP and glucose

C. ferredoxin and cytochrome - bg

D. cytochromes

Answer: A

o Watch Video Solution

25. The synthesis of ATP in both photosynthesis

A. electron

B.CO,

C. cytochromes


https://dl.doubtnut.com/l/_7wDAa2GX9glv
https://dl.doubtnut.com/l/_lNf8vsPXu5NG

D. O,

Answer: A

° View Text Solution

26. Dark reaction in photosynthesis is called so because

A. it can occur in dark also

B. it does not directly depend on light energy

C. it cannot occur during day light

D. it occurs more rapidly at night

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_lNf8vsPXu5NG
https://dl.doubtnut.com/l/_ms3vimmazfUQ

27. Dark reaction of photosynthesis occurs in

A. matrix

B. grana

C.stroma

D. cytoplasm

Answer: C

o Watch Video Solution

28. Calvin cycle occurs in


https://dl.doubtnut.com/l/_ms3vimmazfUQ
https://dl.doubtnut.com/l/_opDA4UTDcCgx
https://dl.doubtnut.com/l/_hn6n8NLWdw4O

A. Mitochondria

B. Chloroplast

C. Cytoplasm

D. Glyoxysomes

Answer: B

o Watch Video Solution

29. The number of carbon atoms present in ribulose

biphosphate is

A.6

B.5


https://dl.doubtnut.com/l/_hn6n8NLWdw4O
https://dl.doubtnut.com/l/_HE3JXBxJ8EAj

C.8

D.3

Answer: B

° Watch Video Solution

30. Carotenes and xanthophyll pigments absorb radiant

energy and

A. carry out photosynthesis to produce carbohydrates

B. do not take any part in photosynthesis

C.lose hte energy as heat


https://dl.doubtnut.com/l/_HE3JXBxJ8EAj
https://dl.doubtnut.com/l/_fX4TGJF6Vm3P

D. transfer this energy to chlorophyll -a and b where, it

is transformed into chemical energy

Answer: D

° Watch Video Solution

31. All the reactions from the reduction of CO, to the

formation of sugers are included in

A. light reaction

B. photolysis

C.dark reaction

D. Hill reaction


https://dl.doubtnut.com/l/_fX4TGJF6Vm3P
https://dl.doubtnut.com/l/_Sln782GpVGrZ

Answer: C

o Watch Video Solution

32. Photocentres in higher plants are

C. Both (a) and (b)

D. chlorophyll -a

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Sln782GpVGrZ
https://dl.doubtnut.com/l/_3piCmFJZ7Qdu
https://dl.doubtnut.com/l/_TbFequ5gdoAk

33. PS-ll is not concerned with

A. photolysis of water

B. non-cyclic phosphorylation

C. reduction of CO,

D. release of energy

Answer: C

° Watch Video Solution

34. The process of photophosphorylation was discovered

by

A. Priestly


https://dl.doubtnut.com/l/_TbFequ5gdoAk
https://dl.doubtnut.com/l/_0J5fEJyx1ed0

B. Calvin

C. Arnon

D. Warburg

Answer: C

o Watch Video Solution

35. The site of photophosphorylation in chloroplast is

A. grana stacks

B. matrix

C. chloroplast surface

D. None of these


https://dl.doubtnut.com/l/_0J5fEJyx1ed0
https://dl.doubtnut.com/l/_d7CPF7SFMLuz

Answer: A

o Watch Video Solution

36. Photophosphorylation is a process in which

A.light energy is converted into chemical energy by

production of ATP

B. glutamic acid is formed

C.2 PGA is formed

D. None of above

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_d7CPF7SFMLuz
https://dl.doubtnut.com/l/_1jMh6oyEI22N

37. The production of energy rich phosphate bonds as in
ATP (adenosine triphosphate) in the absence of light is
known as

A. photophosphorylation

B. photo-respiration

C. photo-oxidation

D. oxidative phosphorylation

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1jMh6oyEI22N
https://dl.doubtnut.com/l/_RpbS6ihimbbI

38. What is the source of oxygen

photosynthesis ?

A. Carbon dioxide

B. Water

C. Sugars

D. Proteins

Answer: B

liberated

in

° Watch Video Solution

39. Which of the following is a Cy -plant ?

A. Potato


https://dl.doubtnut.com/l/_UQGK0mZgTbWA
https://dl.doubtnut.com/l/_PWbrE70uNJQA

B. Sugarcane

C. Pea

D. Papaya

Answer: B

o Watch Video Solution

40. Agranal chloroplasts are characteristic of

A. mesophyll of pea leaves

B. bundle sheath of mango leaves

C. mesophyll of maize leaves

D. bundle sheath of sugarcane leaves


https://dl.doubtnut.com/l/_PWbrE70uNJQA
https://dl.doubtnut.com/l/_lH7aT3cAXr4C

Answer: D

o Watch Video Solution

41. Which of the following

photosynthesiser ?

A. Mango

B. Sugarcane

C. Wheat

D. Rice

Answer: B

plants

is

a

better

° Watch Video Solution



https://dl.doubtnut.com/l/_lH7aT3cAXr4C
https://dl.doubtnut.com/l/_Hb7aYA0TJLvV

42. Tropical plants like maize show high efficiency of CO,

fixation because of

A. TCA cycle

B. EMP pathway

C. Hatch-Slack cycle

D. Calvin cycle

Answer: C

° Watch Video Solution

43.In CAM plants , organic acids are decarbonxylated

A. day


https://dl.doubtnut.com/l/_k7MELQWMfQDc
https://dl.doubtnut.com/l/_YzRPdN8qlPQS

B. night

C. Both (a) and (b)

D. None of these

Answer: A

o Watch Video Solution

44.1n a CAM plant the concentration of organic acid

A. decreases during day
B. increases at night
C. Both (a) and (b)

D. remains same always


https://dl.doubtnut.com/l/_YzRPdN8qlPQS
https://dl.doubtnut.com/l/_w1DxTvfvflm0

Answer: C

o Watch Video Solution

45, A wastage process is

A.respiration

B. photosynthesis

C. photorespiration

D. movement

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_w1DxTvfvflm0
https://dl.doubtnut.com/l/_bWQmIy9KTb9K
https://dl.doubtnut.com/l/_qGWvOMOC6VXn

46. Photorespiration in Cj - plants starts from

A. phosphoglycerate

B. phosphoglycolate

C. glycerate

D. glycine

Answer: B

° Watch Video Solution

47. Photorespiration is favoured by

A. high oxygen and low carbon dioxide

B. high carbon dioxide and low oxygen


https://dl.doubtnut.com/l/_qGWvOMOC6VXn
https://dl.doubtnut.com/l/_28KLv4UvBwCk

C. high temperature and low oxygen

D. high humidity and temperature

Answer: A

° Watch Video Solution

48. Experiment to prove essentiality of CO, for

A. Van Moll

B. Calvin et al.

C. Arnon

D. R hill

Answer: B


https://dl.doubtnut.com/l/_28KLv4UvBwCk
https://dl.doubtnut.com/l/_QcMJqFLeprBb

o Watch Video Solution

49. Optimum temperature for photosynthesis is

A.10 — 15°C
B.20 — 35°C
C.25 -30°C
D.35 — 40°C
Answer: C

o Watch Video Solution

50. High CO5 compensation point is found in


https://dl.doubtnut.com/l/_QcMJqFLeprBb
https://dl.doubtnut.com/l/_zX3hZkPVvGd7
https://dl.doubtnut.com/l/_UzZpy0MgmuBl

A. (5 -plants

B. Cy - plants

C. CAM plants

D. algae

Answer: A

o Watch Video Solution

51. For demonstration of photosynthesis experiments,
usually aquatic plant Hydrilla is used , not any terrestrial

plant , why ?

A. it carries out faster photosynthesis


https://dl.doubtnut.com/l/_UzZpy0MgmuBl
https://dl.doubtnut.com/l/_yVee81ymllQ7

B. O, is released throughout and can accumulate over

the water

C. it respires slowly

D. None of the above

Answer: B

o Watch Video Solution

52. At high oxygen concentration, the

photosynthesis decreases due to

A. Richmond Lang effect

B. Warburg effect

rate

of


https://dl.doubtnut.com/l/_yVee81ymllQ7
https://dl.doubtnut.com/l/_P1w5KYTPABfo

C. Emerson effect

D. Pasteur effect

Answer: B

o Watch Video Solution

53. Which products of Hill reaction are used in Blackman's

reaction

A. ATP, NAD

B. NAD, ADP

C. ATP, NADP

D. ATP, NADPH,


https://dl.doubtnut.com/l/_P1w5KYTPABfo
https://dl.doubtnut.com/l/_YClc3sKsy3g3

Answer: D

o Watch Video Solution

54. Which "photosythetic bacteria" possess both PS | and
PSI

A. Purple sulphur bacteria

B. Cyanobacteria

C. Purple non- sulphur bacteria

D. Green -sulphur bacteria

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_YClc3sKsy3g3
https://dl.doubtnut.com/l/_p79y1GoG1B50

55. In blue-green algae , photosystem - Il contains

important pigment concerned with photolysis of water , it

is a

A. phoycocyanin

B. cytochrome —c

C. chlorophyll-b

D. B-carotene

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_A0WhGsHKOl90

56. A photosynthetic organism which does not release

oxygen is

A. green sulphur bacteria

B. algal component of lichen

C. blue - green algae

D. spirochaete

Answer: A

° Watch Video Solution

57. Photosynthesis is maximum during

A. intermittent light


https://dl.doubtnut.com/l/_qAb8u4C5Esm2
https://dl.doubtnut.com/l/_oqNHDVGt158m

B. continuous strong light

C. continuous dimlight

D. None of these

Answer: A

o Watch Video Solution

58. Which of the following statements is correct about C}

type of phtosynthesis ?

A. (4 cycle is an independent cycle

B. C4 - cycle is adjacent of Calvin cycle

C. RuBP carboxylase has higher affinity for CO,


https://dl.doubtnut.com/l/_oqNHDVGt158m
https://dl.doubtnut.com/l/_zxsKlQg6uWuE

D. Carboxylase is present in the bundle sheath cells

Answer: B

° View Text Solution

59. The C4 -plants differ from Cj - plants in

A. type of pigments involved in photosynthesis

B. number of ATP's evolved in formation of sugar

C.the substance that accepts CO; during

assimulation

D. type of end products of photosynthesis

Answer: C


https://dl.doubtnut.com/l/_zxsKlQg6uWuE
https://dl.doubtnut.com/l/_L98C0TSFM1o6

° Watch Video Solution

60. Which of the following kinds of plant fixes carbon

dioxide by way of crassulacean acid metabolism (CAM)

A. Oak tree

B. Grass

C.Red algae

D. Cactus (succulents)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_L98C0TSFM1o6
https://dl.doubtnut.com/l/_iApNrrrSrJ53

61. The substance for photorespiration is

A. malic acid

B. oxaloacetic acid

C. glycolic acid

D. PGA

Answer: C

° Watch Video Solution

62. In blue -green algae, photosynthesis occurs in

A. chromatophorses


https://dl.doubtnut.com/l/_Ks7rMrzdOTSX
https://dl.doubtnut.com/l/_ReIEYbr0Qt2B

B. Chloroplast

C. photosynthetic lamellae

D. chromoplast

Answer: C

o Watch Video Solution

63. Liberation of sulphur instead of oxygen by

photosynthetic sulphur bacteria was experimentally

proved by

A. Calvin

B. Van Neil


https://dl.doubtnut.com/l/_ReIEYbr0Qt2B
https://dl.doubtnut.com/l/_D2eA6LSnUWsp

C. R Hill

D. Ruben and Kamen

Answer: B

o Watch Video Solution

64. Which wavelength of light carry out photosynthesis in

bacteria

A. blur

B. red

C. ultraviolet

D. near infra red or far red


https://dl.doubtnut.com/l/_D2eA6LSnUWsp
https://dl.doubtnut.com/l/_RQw0bIOlLvA6

Answer: D

° Watch Video Solution

65. The two enzymes which are used for primary

carboxylation in C'5 and Cj respectively are

A. RuBP carboxylase and PEP carboxylase

B. RuBP carboxylase and pyruvate carboxylase

C. PEP carboxylase and pyruvate carboxylase

D. PEP carboxylase and RuBP carboxylase

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_RQw0bIOlLvA6
https://dl.doubtnut.com/l/_VWcSu2YrKD2q

66. In case of (4 - plants , whcih enzyme fixes the CO,

released during decarboxylation of malate

A. RuBisCO

B. MDH

C. PEPase

D. None of these

Answer: A

° Watch Video Solution

67. The carrier of CO, from mesophyll cells to bundle

sheath cell is


https://dl.doubtnut.com/l/_4HiNX79fLqeH
https://dl.doubtnut.com/l/_ghtKtExjFD5U

A. ATP

B. NAD

C. pyruvic acid

D. malic acid

Answer: D

o Watch Video Solution

68. PEP is primary C'O, acceptor in

A. Cy-plants

B. Cs-plants

C. Cy-plants


https://dl.doubtnut.com/l/_ghtKtExjFD5U
https://dl.doubtnut.com/l/_bJzOBYFowX7G

D. Both (a) and (b)

Answer: A

o Watch Video Solution

69. In case of C} -pathway, CO, combines with

A. MDH

B. PGA

C. RuBP

D. PEP

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_bJzOBYFowX7G
https://dl.doubtnut.com/l/_fRPejouth03q

70. The first product of CO, fixation in Cj -plants is

A. 3-phosphoglyceric acid

B. malic acid

C. oxaloacetate

D. Phosphoenol pyruvate

Answer: C

o Watch Video Solution

71. When CQO, is added to PEP. The first stabel product

synthesised is


https://dl.doubtnut.com/l/_fRPejouth03q
https://dl.doubtnut.com/l/_kMKLEzcqqAy4
https://dl.doubtnut.com/l/_aZpFSpAoX4vI

A. pyruvate

B. glyceraldehyde-3-phosphate

C. phosphoglycerate

D. oxaloacetate

Answer: D

o Watch Video Solution

72. The first carbon fixation in Cy pathway occurs in

chloroplasts of

A. palisade tissue

B. spongy mesophyll


https://dl.doubtnut.com/l/_aZpFSpAoX4vI
https://dl.doubtnut.com/l/_ny5nMClCbG40

C. bundle sheath

D. guard cells

Answer: B

o Watch Video Solution

73. Cy-plants are found among

A. dicots

B. monocots

C. Both (a) and (b)

D. in family -Poaceae (Gramineae)

Answer: C


https://dl.doubtnut.com/l/_ny5nMClCbG40
https://dl.doubtnut.com/l/_mHUnnegYD19n

o Watch Video Solution

74. Which of the following plants is not a Cy-plant ?

A. Saccharum munja

B. Amaranthus

C. Zea mays

D. Zingber officinalls

Answer: D

o Watch Video Solution

75. Maize is a


https://dl.doubtnut.com/l/_mHUnnegYD19n
https://dl.doubtnut.com/l/_ZJNr31Xd2y9r
https://dl.doubtnut.com/l/_RWgnfhinaDKj

A. Csy-plant

B. C3-plant

C. Cy-plant

D. CAM plant

Answer: C

° Watch Video Solution

76. The enzyme that is not found in a Cj5 plant is

A. RuBP carboxylase

B. PEP carboxylase

C. NADP reductase



https://dl.doubtnut.com/l/_RWgnfhinaDKj
https://dl.doubtnut.com/l/_1tUuXkXebLQY

D. ATP synthase

Answer: B

° Watch Video Solution

77. How many ATP and NADPH, molecules are used for

fixing one molecule of CO5?

A. Three and two respectively

B. Three each

C. Two each

D. Two and three respectively

Answer: A



https://dl.doubtnut.com/l/_1tUuXkXebLQY
https://dl.doubtnut.com/l/_rr3m6B3VstYK

I o Watch Video Solution

78. How many molecules of inorganic phosphate
molecules are generated in Calvin cycle in formation of
PGAL ?

A. 12

B.6

C.17

D.18

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_rr3m6B3VstYK
https://dl.doubtnut.com/l/_TwPU0EGJDntV
https://dl.doubtnut.com/l/_Jv5NCMulB7nB

79. Through which of the following substances the
photosystem-l passes an electron to NADP during light
reactions

A. Cytochrom

B. plastocyanin

C. Ferredoxin (FRS)

D. None of these

Answer: C

o Watch Video Solution

80. During ATP synthesis , electrons pass through


https://dl.doubtnut.com/l/_Jv5NCMulB7nB
https://dl.doubtnut.com/l/_8ZhCMX8SNpS9

A.CO,

B. O,

C. H,O

D. Cytochromes

Answer: D

o Watch Video Solution

81. The electrons liberated form PS-I first go to

A. carotenoids

B. plastocyanin

C. ferredoxin


https://dl.doubtnut.com/l/_8ZhCMX8SNpS9
https://dl.doubtnut.com/l/_ix1WoYUlXrbn

D. plastoquinone

Answer: D

o Watch Video Solution

82. NADP is converted into NADPH, in

A. photosystem -lI

B. photosystem- |

C. Calvin cycle

D. non- cyclic photophoohorylation

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ix1WoYUlXrbn
https://dl.doubtnut.com/l/_rKFgH33B1l2j

8. Synthesis of ADP + Pi — ATP

grana/photosynthesis is

A. phosphorylation
B. oxidative phosphorylation
C. photophosphorylation

D. photolysis

Answer: C

in

° Watch Video Solution



https://dl.doubtnut.com/l/_rKFgH33B1l2j
https://dl.doubtnut.com/l/_chn9YDcdEfNF

84. The excess energy of electron is used in the synthesis

of

A. carbohydrates

B. ATP from ADP and IP

C.NAD from NADH,

D. sugars from CO,

Answer: B

° Watch Video Solution

85. The normal state of an atom or molecule is known as

A. ground state


https://dl.doubtnut.com/l/_BXosIDrOLI3F
https://dl.doubtnut.com/l/_K04yCwAlWa4Q

B. single state

C. Both (a) and (b)

D. excited state

Answer: C

o View Text Solution

86. Where does the primary photochemical reaction occur

in the chloroplast ?

A. Quantasome or thylakoid

B. Stroma

C. Grana


https://dl.doubtnut.com/l/_K04yCwAlWa4Q
https://dl.doubtnut.com/l/_oIjEDf7uAoZA

D. Inner - membrane of chloroplast

Answer: A

o Watch Video Solution

87. During photosynthesis O, is liberated by oxidation of

A.CO,

B.H20

C. phosphoglyceraldehyde

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_oIjEDf7uAoZA
https://dl.doubtnut.com/l/_dGeE6YExatxx

88. How many quanta are required in photosynthesis to

release one molecuole of Oy ?

A 12

B. 10

C.8

D. 20

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_dGeE6YExatxx
https://dl.doubtnut.com/l/_zCEuC2QaMlF1

89. The number of oxygen molecules produced per

quantum of light absorbed is

A. oxygen yield

B. photosynthesis yield

C. quantum yield

D. organic yield

Answer: C

° View Text Solution

90. Energy required for ATP synthesis in PSIl comes from

A. proton gradient


https://dl.doubtnut.com/l/_IMvMCACkW2JG
https://dl.doubtnut.com/l/_iJ5XdscGV7RG

B. elctron gradient

C. reduction of glucose

D. oxidation of glucose

Answer: A

o Watch Video Solution

91. Approximate number of chlorophlyll

required to evolve one molecule of O, are

A. 2480 molecules

B. 2280 molecules

C. 2180 molecules

molecules


https://dl.doubtnut.com/l/_iJ5XdscGV7RG
https://dl.doubtnut.com/l/_MzTOIilCA0mB

D. 2275 molecules

Answer: A

° View Text Solution

92. Photosynthesis consists of esseentially two biological
reaction systems, One followed by the other, One followed
by the other, the second of these systems does which of
the following

A. Traps light energy

B. Synthesises starch

C. Fixes C'O,

D. Works only in the presence of light


https://dl.doubtnut.com/l/_MzTOIilCA0mB
https://dl.doubtnut.com/l/_QITfFygXAZgw

Answer: C

o Watch Video Solution

93. During formation of 1,3-diphosphoglyceric acid from 3

phosphoglyceric acid , the phosphatic donor is

A. Hy PO,

B. ATP

C. ADP

D. GTP

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_QITfFygXAZgw
https://dl.doubtnut.com/l/_SL3S2klJjDNQ

94. During photosynthesis when PGA is changed into

phosphoglyceraldehyde, which of the following reaction

occur

A. Oxidation

B. reduction

C. electrolysis

D. hydrolysis

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3ixwghusGXLX

95. Ribulose diphosphate carboxylase

location in

A. Golgi bodies

B. peroxysomes

C. chloroplast

D. mitochondria

Answer: C

oxygenase

is

° Watch Video Solution

96. The initial enzyme of Calvin cycle is

A. cytopchrome oxidase


https://dl.doubtnut.com/l/_C1WtIVKS7ONv
https://dl.doubtnut.com/l/_jBiUECY3gAJb

B. photo-pertokinase

C. RuBP carboxylase/oxygenase

D. triose phosphate dehydrogenasse

Answer: C

o Watch Video Solution

97. Chloroplast contains maximum quanitity of

A. hexaokinase

B. RuBisCO enzyme

C. RuBP

D. pyruvic carboxylase


https://dl.doubtnut.com/l/_jBiUECY3gAJb
https://dl.doubtnut.com/l/_pITSpAklaBeV

Answer: B

o Watch Video Solution

98. The source of hydrogen atoms for the synthesis of

glucose is

A.H,O

B. FADH,

C. NADPH,

D. ATP

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_pITSpAklaBeV
https://dl.doubtnut.com/l/_QZ8GeMVaV37H

99. Ribulose diphosphate carboxylase enzyme catalyses

the carboxylation reaction between

A. COyand ribulose 1,5-diphosphate

B. acetyl Co — A and oxaloacetic acid

C. PGA and dihydroxy acetone phsphate

D. ribulose , diphosphate phosphoglyceraldehyde

Answer: A

° Watch Video Solution

100. The number of chlorophyll molecules required to fix

A. 2500


https://dl.doubtnut.com/l/_VoBMrUMnByEw
https://dl.doubtnut.com/l/_gUoN6Szc8z2z

B. 5000

C. 10000

D. 50000

Answer: A

o View Text Solution

101. Botanical name of the algae used by Calvin and his

coworker in photosynthesis experiments is

A. Chlamydomonas

B. Chlorella

C.Euglena


https://dl.doubtnut.com/l/_gUoN6Szc8z2z
https://dl.doubtnut.com/l/_wHvFlfCV9n4e

D. Chara

Answer: B

° View Text Solution

102. Carbon dioxide joins the route of photosynthesis

during

A. photosystem-|

B. photosystem-l|

C.dark reaction

D. light reaction

Answer: C



https://dl.doubtnut.com/l/_wHvFlfCV9n4e
https://dl.doubtnut.com/l/_A7UvLK3lbMRA

I o Watch Video Solution

103. During photosynthesis , which process releases
electrons that return to chlorophyll molecules in their
reduced state ?

A. Nutrition of photosystem -|

B. Oxidation of reduced NADP

C. Phosphorylation of ADP

D. Photolysis of water

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_A7UvLK3lbMRA
https://dl.doubtnut.com/l/_6wGUgKt5bTv2
https://dl.doubtnut.com/l/_KOqNoI6uOqTf

104. Splitting of water is associated with

A. photosystem -I

B. lumen of thlakoid

C. both photosystem -l and Il

D. inner surface of thylakoid membrane

Answer: D

° Watch Video Solution

105. When light strikes chlorophyll molecule , they lose

electron, which are ultimately followed by

A. splitting of water


https://dl.doubtnut.com/l/_KOqNoI6uOqTf
https://dl.doubtnut.com/l/_zLUCZ9vG9O3Y

B. breaking down ATP

C.removing them from NADPH

D. fixing carbon

Answer: A

o Watch Video Solution

106. During light reaction in photosynthesis the following

are formed.

A. ATP and sugar

B. hydrogen , O, and sugar

C. ATP, hydrogen donor and O,


https://dl.doubtnut.com/l/_zLUCZ9vG9O3Y
https://dl.doubtnut.com/l/_VKnTb59omesE

D. ATP, hydrogen and O, donor

Answer: C

° Watch Video Solution

107. Primary electron acceptor in

photophosphorylation is

A. NADP

B. FAD

C.CO,q

D. FRS (Iron -sulphur protein)

Answer: D

cyclic



https://dl.doubtnut.com/l/_VKnTb59omesE
https://dl.doubtnut.com/l/_H3q0a0DZh1Ac

I o Watch Video Solution

108. Dichlorophenyl Dimethyl Urea (DCMU) also called

diuron, a potent herbicide stops

A. O, evolution

B. non-cyclic photophosphorylation

C. Both (a) and (b)

D. oxididative photophosphorylation

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_H3q0a0DZh1Ac
https://dl.doubtnut.com/l/_vmj6z7PWBGAG

109. Paraquat kills plant by inhibiting

A.respiration

B. pigment system -l|

C. pigment system -I

D. dark -reaction

Answer: C

° Watch Video Solution

110. ATP formation in photosynthesis is known as

A. photophosphorylation


https://dl.doubtnut.com/l/_yMqFSaoUw0lV
https://dl.doubtnut.com/l/_BsLcXmh8I1YP

B. phosphorylation

C. oxidative phosphorylation

D. None of the above

Answer: A

o Watch Video Solution

111. The isotopes that have proved useful in reseaches on
photosynthesis are

A. 015 and 014

B.C'' and P*

C. P32 and O'8


https://dl.doubtnut.com/l/_BsLcXmh8I1YP
https://dl.doubtnut.com/l/_rJ9NnuWhFHwq

D.C™ and O'®

Answer: D

o View Text Solution

112. The byproduct of photosynthesis is

A. O,

B.CO,

C. H,O

D. ATP

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_rJ9NnuWhFHwq
https://dl.doubtnut.com/l/_H1KeXw4Q4fVW

113. Which range of wavelength (in nm) is called

photosynthetically active radiation (PAR)?

A. 100 — 390
B. 390 — 430
C. 400 — 700
D. 760 — 10000
Answer: C

° Watch Video Solution

114.The universal photosynthetic pigment (s) is /are ?


https://dl.doubtnut.com/l/_H1KeXw4Q4fVW
https://dl.doubtnut.com/l/_IgO6Bnyz01gS
https://dl.doubtnut.com/l/_pBNmelSn2Uwz

A. chlorophyll-a

B. chlorophyll-b

C. chlorophyll-c

D. Both (a) and (b)

Answer: A

o Watch Video Solution

115. Basic structure of al chlorophylls compries

A. cytochrome system

B. flavoproteins

C. porphyrin system


https://dl.doubtnut.com/l/_pBNmelSn2Uwz
https://dl.doubtnut.com/l/_MYrYyRXPXrfu

D. plastocyanin

Answer: C

° Watch Video Solution

116. In angiosperms , synthesis of chlorophyll occurs in the

presence of

A. phytochrome

B. cytochrome

C. light

D. All of these

Answer: C



https://dl.doubtnut.com/l/_MYrYyRXPXrfu
https://dl.doubtnut.com/l/_qAPybq2aCWLS

I o View Text Solution

117. The head and tail of chlorophyll are made up of

A. porphyrin and phytin

B. pyrrol and tetrapyrrol

C. porphyrin and phytol

D. tetraphyrrol and pyrrol

Answer: C

° Watch Video Solution

118. The total number of carbon atoms in phytol chain is


https://dl.doubtnut.com/l/_qAPybq2aCWLS
https://dl.doubtnut.com/l/_wHncVGkgMuYD
https://dl.doubtnut.com/l/_7gVNBDo1il4K

A. 20

B. 22

C. 25

D. 32

Answer: A

o Watch Video Solution

119. The pigment chlorophyll-a is absent in

A. gymnosperms

B. bacteria

C. algae


https://dl.doubtnut.com/l/_7gVNBDo1il4K
https://dl.doubtnut.com/l/_d6K0txjkQEsK

D. bryophyta

Answer: B

° Watch Video Solution

120. the empirical formula for chlorophyll a is

A. C35H7oOs Hy Mg

B. 065H7006N4Mg

C. 055H7205N4Mg

D. None of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_d6K0txjkQEsK
https://dl.doubtnut.com/l/_CsetwwY2KGTO

121. Which pigment acts directly to convert light energy to

chemical energy?

A. Chlorophyll -a

B. Chlorophyll -b

C. Xanthophyll

D. Carotenoid

Answer: A

° Watch Video Solution

122. Chlorophyll b is


https://dl.doubtnut.com/l/_CsetwwY2KGTO
https://dl.doubtnut.com/l/_DBbeCjcLHrB0
https://dl.doubtnut.com/l/_PSKGFDlBVjsx

A. C54H70Og Ny Mg

B. Cs5H70Og Ny Mg

C. C55 H7oO5 Ny Mg

D.Cys H72O5 Ny Mg

Answer: B

o Watch Video Solution

123. Which of the following pigment prevents the photo-

oxidation of chlorophyll molecules ?

A. Phycobillins

B. Carotenoids


https://dl.doubtnut.com/l/_PSKGFDlBVjsx
https://dl.doubtnut.com/l/_rRaBfXODgoLA

C. anthocyanin

D. None of these

Answer: B

o Watch Video Solution

124. Cyy Hyg is the empirical formula of

A. chlorophyll -b

B. carotense

C. anthocyanin

D. xanthophyll

Answer: B


https://dl.doubtnut.com/l/_rRaBfXODgoLA
https://dl.doubtnut.com/l/_YJCzGy4OTQQ0

o Watch Video Solution

125. Cyy Hg is the empirical formula of

A. xanthophyll

B. anthocyanin

C. chlorophyll

D. xanthophyll

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_YJCzGy4OTQQ0
https://dl.doubtnut.com/l/_Ae2rP883O1x8

126. Which colour of light gives maximum absorption peak

of chlorophyll a

A. Blue light

B. Green light

C.Red light

D. Violet light

Answer: A

° Watch Video Solution

127. Discovery of Emerson effect has already shown in

existence of


https://dl.doubtnut.com/l/_tnReRIwkZTMX
https://dl.doubtnut.com/l/_WlxjJ3dRzUjU

A. photorespiration

B. photophosphorylation

C.light and dark reaction in photosynthesis

D. two distinct photochemical reactions or processes

Answer: D

o Watch Video Solution

128. Red drop occurs in wavelengths of

A. 495 nm

B. More than 680 nm

C.less than 680 nm


https://dl.doubtnut.com/l/_WlxjJ3dRzUjU
https://dl.doubtnut.com/l/_LssIDNbUZqy0

D. 586 nm

Answer: B

° Watch Video Solution

129. Given below is the reaction of photolysis

Light
2HO ———— 4H " + 4e~ Oy T
Chlorophyll

How can you justify that photolysis took place ?

A. with the release of Os
B. with the presence of chlorophyll
C. with the release of electrons

D. with dissociation of water molecule


https://dl.doubtnut.com/l/_LssIDNbUZqy0
https://dl.doubtnut.com/l/_vcmIPITk6geM

Answer: C

° Watch Video Solution

130. Which is the evidence to shoe that O, is released in

photosynthesis comes from water

A. Isolated chloroplast in water releases O, if supplied

potassium ferrocyanide (reducing agent).

B. Photosynthetic bacteria use HyS and CO, to make

carbohydrates, H,O and sulphur.

C. Isotopic O, supplied as H,O appears in O, release

in photosynthesis.

D. All of the above


https://dl.doubtnut.com/l/_vcmIPITk6geM
https://dl.doubtnut.com/l/_IDygx4HPbKR7

Answer: D

° Watch Video Solution

131. The correct sequency of flow of electons in the light

reaction is

A. PS-ll, plastoquinone , cytochromes , PS-l, ferredoxin

B. PS-1,plastoquinone , cytochromes, PS-Il ferredoxin

C. PS-l,ferredoxin, PS-lI

D. PS-l, plastoquinone, cytochromes , PS-Il, ferredoxin

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_IDygx4HPbKR7
https://dl.doubtnut.com/l/_4nnGrh3AsKh9

132. Radioactive carbon dioxide (.14 002) is added to
suspension of a photosynthesising green alga. Which
compound will be labelled first with .14 CO, ?

A. Glucose

B. RUuBP

C. GP(PGA)

D. Triose phosphate

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_lVBt7GuWzYGC

133. What is the outline sequence by which carbon dioxide

may be incorporated into starch by photosynthesis ?

A.PGA + COy — RuBP — Triose Phosphate —

Hexose phosphate — Starch

B. PGA + COy — RuBP — Hexose phosphate —

Triose phosphate — Starch

C. RuBP + COy — PGA — Hexose phosphate —

Triose phosphate — Starch

D. RuBP 4+ COy — PGA — Triose phosphate —

Hexose phosphate — Starch.

Answer: D



https://dl.doubtnut.com/l/_jse5QyfzotTH

{ % VICW ICXL S0IUtion )|

134. The reaction that is responsible for the primary

fixation of C'O, is catalysed by

A. RuBP carboxylase

B. PEP carboxylase

C. RuBP carboxylase and PEP carboxylase

D. PGA synthase

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jse5QyfzotTH
https://dl.doubtnut.com/l/_wSp87JxoIt87

135. Enzymes PEP carboxylase and RuBP carboxylase

are located in chloroplasts of

A.CAM

B.Cy

C. Both (a) and (b)

D. C;

Answer: C

° Watch Video Solution

136. Pick the odd one out from the following option.

A. Tomato : Lycopene


https://dl.doubtnut.com/l/_ydTXOL3yitS6
https://dl.doubtnut.com/l/_4XiOyQb1CE9s

B. Autumn leaves : Lutein

C. Green plants : Chlorophyll

D. Red alage : Phycoerythrin

Answer: D

o View Text Solution

137. Which of the following process is called reverse of

glycolysis ?

A. CO5 reduction

B. RUBP carboxylation

C. RUBP regeneration


https://dl.doubtnut.com/l/_4XiOyQb1CE9s
https://dl.doubtnut.com/l/_HNrvpEeUFVNj

D. ATP synthesis

Answer: A

° View Text Solution

138. Among the products , mentioned below which of the

following is product of cyclic phosphorylation ?

A Only NADPH,

C. Only ATP

D. None of these

Answer: C



https://dl.doubtnut.com/l/_HNrvpEeUFVNj
https://dl.doubtnut.com/l/_p9DN5VDxw3lv

I o Watch Video Solution

139. Which of the following statement is incorrect for

chemiosmotic hypothesis ?

A. It explains formation of ATP molecules

B. It is linked with development of proton gradient

C. it does not involve photolysis

D. it was proposed by Peter Mitchell

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_p9DN5VDxw3lv
https://dl.doubtnut.com/l/_IT4kK7cp0Eg2

140. Choose the correct pair,

A. Green sulphur : Chromatium

B. Purle sulphur : Rhodocyclus sp.

C. Non-sulphur : Chlorobacter

D. Green -sulphur :Chlorobium

Answer: D

° View Text Solution

141. Chemosynthetic bacteria obtain energy from

A.sum


https://dl.doubtnut.com/l/_vB6q0IkCNBjv
https://dl.doubtnut.com/l/_ZKfm6o5zrquc

B. infrared rays

C. organic substances

D. inorganic chemicals

Answer: D

o Watch Video Solution

142. During dark reaction of photosynthesis

A. CO, is reduced to organic compounds

B. water splitting

C. chlorophyll is activated

D. 6-carbon sugar is broken down to 3-carbon sugar


https://dl.doubtnut.com/l/_ZKfm6o5zrquc
https://dl.doubtnut.com/l/_OYsSZZzb6WKG

Answer: A

o Watch Video Solution

143. Which of the following is not required for

chemiosmosis ?

A. A thylakoid membrane

B. A proton gradient

C. ATP synthese enzyme

D. Carboxylase enzyme

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_OYsSZZzb6WKG
https://dl.doubtnut.com/l/_io65vrEnTo6u

144. Which of the following show dimorphism ?

A. All Cy-plants

B. All plants

C.Only algae

D. Chloroplast of C} -plant

Answer: D

o Watch Video Solution

Chapter Exercies B Medical Entrances Special Format

Questions Statement Based Quations



https://dl.doubtnut.com/l/_dksLuvU1OyUK

1. Which of the following are not correct ?
l. Van Neil showed that photosynthetic bacteria fixed CO,
in the presence of H,S.

Il. Melvin Calvin discovered Cy-pathway for fixation of CO,

lll. Park and Biggins discovered quantasome.
IV. Emerson and Arnold used radioactive 18 oxygen and
proved that oxygen evolved was part of water.

A.land Il

B. Il and IV

C.1, 1l and Il

D. Only IV

Answer: B


https://dl.doubtnut.com/l/_EZXKjs8Dc2IH

° Watch Video Solution

2. Carotenoids are

l. yellow to orange pigments, which absorb light strongly
in the blue - voiltet range.

Il. Called shield pigments because they protect chlorophyll
from photo -oxidation.

l1l. Magnesium porphyrin compounds.

IV. Red and blue pigments

A.land Il
B.Only |
C.lland IV

D.I, 11 IIand IV


https://dl.doubtnut.com/l/_EZXKjs8Dc2IH
https://dl.doubtnut.com/l/_Y2zarEDquA36

Answer: A

° Watch Video Solution

3. Quantasome

it is a group of pigment molecules required for carrying
out a photochemical reaction.

Il. Consists of 200-240 chlorophyll molecules, carotenoids,
quinone compounds , sulpholipids , phospholipids
protenis , etc.

lllis present on the thylakoid membranes as a small unit.

IV.absorbs only blue and violet wavelength in vitro.

A.ll and IV

B.Only |


https://dl.doubtnut.com/l/_Y2zarEDquA36
https://dl.doubtnut.com/l/_Mxb7Dbui3nVq

C.Only Ili

D. LIl and IlI

Answer: D

° View Text Solution

4. Cytochromes

l. dissolve easily into the lipid component of chloroplast
membranes.

Il. are small proteins that contain a cofactorf, haem, which
holds an iron atom.

ll. Are losely associated with chloroplast membrances.

IV. are an intergral part of the chloroplasts thylakoid


https://dl.doubtnut.com/l/_Mxb7Dbui3nVq
https://dl.doubtnut.com/l/_P0EfvXvgdSzx

membranes and cannot be removed without destroying

the membrane.

A.lll and IV
B.I, Il and IV
C.Only |
D.land Il
Answer: D

° View Text Solution

5. Plant familites having Cy species are
I. Amaranthaceae

ll. Euphorbiaceae


https://dl.doubtnut.com/l/_P0EfvXvgdSzx
https://dl.doubtnut.com/l/_ipusfqxSFxfD

Ill. Poaceae

IV. Malvaceae

A L, lIland Il

B.land Il

C.llland IV

D. All of these

Answer: A

° Watch Video Solution

6. Crassulacean acid metabolism
l. is an alternative of the C5 and Cjy- pathway of C'O,

fixation found in plants living in dry hot climate.


https://dl.doubtnut.com/l/_ipusfqxSFxfD
https://dl.doubtnut.com/l/_WiCBhiz6jzWK

Il. Pathway resemble Cj - pathway in that C'O, is trapped
by highly efficient PEP- carboxylase.

lll. is a special type of respiration show by many green
plants, when why they are exposed to light.

IV. is catalysed by the enzyme serine hydroxymethyl

transferase.

A.Only 1l
B. Only IlI
C. None of these

D.land Il

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_WiCBhiz6jzWK
https://dl.doubtnut.com/l/_LIlKBqTWyExw

7. Rate of photosynthesis is
l. greater in intense light than in diffused light .
[l. Minimum in red light .
lll. Greater in intermittent light than in continuous light.
IV. Decreased in the presence of cytokinins and
gibberellins.

A.Only|

B.land IlI

C.LIland I

D. Only IV

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_LIlKBqTWyExw

8. Chemosynthetic bacteria are
l. Thiobacillus thiooxidus

Il. Spirophyllum ferrugineum
1. Bacillus hydrogenes

IV. Rhizobium leguminosarum

A.land Il
B. Il and I
C. LIl, and 1l

D. All of the above

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_0NmUuHPwnBu4
https://dl.doubtnut.com/l/_VTqFNgC8UGzD

9. Photolysis of water

A.Only I

B.land Il

C.lland IV

D. Only IV

Answer: B

° View Text Solution

10. Which of the following factors affect rate of

photosynthesis ?

A.only il


https://dl.doubtnut.com/l/_VTqFNgC8UGzD
https://dl.doubtnut.com/l/_vBy0n00AJH01

B.land Il

C.Only IV

D.l,1land Il

Answer: D

o View Text Solution

Chapter Exercies B Medical Entrances Special Format

Questions Assertion And Reason

1. Assertion: Photosynthesis is a redox process.
Reason : Oxidation of carbon dioxide and reduction of

water takes place in photosynthesis.


https://dl.doubtnut.com/l/_vBy0n00AJH01
https://dl.doubtnut.com/l/_j31RCpjlDwJf

A. Both Assertion and Reason are true and Reason is

the correct explanation of Asseration

B. Both Assertion and Reason are true, but Reason is

not the correct explanation of Assertion

C. Assertion is true , but Reason is false

D. Assertion is false, but Reson is true

Answer: C

° Watch Video Solution

2. Assertion : Chlorophyll appears green.
Reason : It absorbs light mainly in the region of green

part of light spectrum.


https://dl.doubtnut.com/l/_j31RCpjlDwJf
https://dl.doubtnut.com/l/_1PnqDpCoWp7r

Reason : It absorbs light mainly in the region of green

part of light spectrum.

A. Both Assertion and Reason are true and Reason is

the correct explanation of Asseration

B. Both Assertion and Reason are true, but Reason is

not the correct explanation of Assertion

C. Assertion is true , but Reason is false

D. Assertion is false, but Reson is true

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1PnqDpCoWp7r

3. Assertion : Red light of visible spectrum contains high

energy.

Reason : Green light of visible spectrum contains low

energy than red light.

A. Both Assertion and Reason are true and Reason is

the correct explanation of Asseration

B. Both Assertion and Reason are true, but Reason is

not the correct explanation of Assertion

C. Assertion is true , but Reason is false

D. Both Assertion and Reason are false

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_whhGAW3oujhE

4. Assertion : Carotenoids are accessory pigments.

Reason : Absorbed light energy is transferred to reaction

centre by carotenoids.

A. Both Assertion and Reason are true and Reason is

the correct explanation of Asseration

B. Both Assertion and Reason are true, but Reason is

not the correct explanation of Assertion

C. Assertion is true , but Reason is false

D. Assertion is false, but Reson is true

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_whhGAW3oujhE
https://dl.doubtnut.com/l/_fO86YWm9sdOv

5. Assertion : Non - cyclic photophophorylation occurs in

the stroma of chloroplasts.

Reason : There is a continuous flow of electrons in this

process.

A. Both Assertion and Reason are true and Reason is

the correct explanation of Asseration

B. Both Assertion and Reason are true, but Reason is

not the correct explanation of Assertion

C. Assertion is true , but Reason is false

D. Assertion is false, but Reson is true

Answer: D



https://dl.doubtnut.com/l/_fO86YWm9sdOv
https://dl.doubtnut.com/l/_IHt4FIBx6XrY

I ° Watch Video Solution

6. Assertion : Carotences and xanthophylls are soluble in
ether.

Reson : There are accessory pigments of photosynthesis.

A. Both Assertion and Reason are true and Reason is

the correct explanation of Asseration

B. Both Assertion and Reason are true, but Reason is

not the correct explanation of Assertion

C. Assertion is true , but Reason is false

D. Assertion is false, but Reson is true

Answer: B



https://dl.doubtnut.com/l/_IHt4FIBx6XrY
https://dl.doubtnut.com/l/_ypf2TkOre4DX

I o Watch Video Solution

7. Assertion : Cyanobacteria perform

oxygenicphotosynthesis.

Reason : Cyanobacteria posses chloroplasts.

A. Both Assertion and Reason are true and Reason is

the correct explanation of Asseration

B. Both Assertion and Reason are true, but Reason is

not the correct explanation of Assertion

C. Assertion is true , but Reason is false

D. Assertion is false, but Reson is true

Answer: C



https://dl.doubtnut.com/l/_ypf2TkOre4DX
https://dl.doubtnut.com/l/_FvzyrnN1fyVQ

[ o Watch Video Solution

Chapter Exercies C Medical Entrances Gallery Collection Of

Questions Asked In Neet Various Medical Entrance Exams

1. The process which makes major difference between Cj
and Cy plants is

A. glycolysis

B. Calvin cycle

C. photorespiration

D. respiration

Answer: C

r.- s l



https://dl.doubtnut.com/l/_FvzyrnN1fyVQ
https://dl.doubtnut.com/l/_Gi8w6iFU0agg
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2. Emerson ' s enhancement effect and Red drop have

been instrumental in the discovery of

A. two photosystems operating simultaneously

B. photosphorylation and cyclic electron transport

C. oxidative phosphorylation

D. photophosphorylation and non - cyclic electron

transport

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Gi8w6iFU0agg
https://dl.doubtnut.com/l/_SXAcgzMIoXtv
https://dl.doubtnut.com/l/_6TIfcXcTrclJ

3.In chloroplast, the highest number of protons are found

in

A. lumen of thylakoids

B. inter membrane space

C. antennae comples

D. stroma

Answer: A

o Watch Video Solution

4. Correct sequence of involvement of the following in
noncyclic electron transport

(i) PC (ii) PQ (iii) Pheo (iv) Fd


https://dl.doubtnut.com/l/_6TIfcXcTrclJ
https://dl.doubtnut.com/l/_hJPcA5r6i85s

Al 1IN and IV

B. LI, IVandl

C.IV,I, Il nad lll

D. I, I, 1and IV
Answer: D

o Watch Video Solution

5. Choose the correct statement.

A. Stroma lamella membrane lacks PS-Il and PS-I.

B. When PS-l is functional electrons flow in an non -

cyclic way


https://dl.doubtnut.com/l/_hJPcA5r6i85s
https://dl.doubtnut.com/l/_unASNsbrS5DV

C. ATPase are enzyme consists of F} units

D. NADP reductase is a part of PS- I

Answer: C

° Watch Video Solution

6. The enzyme responsible for primary carboxylaylation in

Cs - plants is

A. pyruvate carboxlases

B. succinic dehydrogenase

C. hexokinase

D. RuBP carboxylase/ oxygenase


https://dl.doubtnut.com/l/_unASNsbrS5DV
https://dl.doubtnut.com/l/_I1SPAXnvmBBm

Answer: D

o Watch Video Solution

7. In C5 -plants the first stable compound formed after

CO, fixation is

A. oxaloacetic acid

B. malic acid

C. phosphoglyceraldehyde

D. 3- phosphoglycerate

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_I1SPAXnvmBBm
https://dl.doubtnut.com/l/_IrhyiqFiXRpR

8. Which of the elements is found in chlorophyll ?

A. Maganase

B. Potassium

C.lron

D. Magnesium

Answer: D

° Watch Video Solution

9. What is the quantum yield of photosynthesis

A. 33 %


https://dl.doubtnut.com/l/_SYn3FZ7rGEOd
https://dl.doubtnut.com/l/_DWdMX0FqIg7C

B.9%

C.12%

D.78 %

Answer: C

o Watch Video Solution

10. The structures that are formed by stacking of

organized flattered membrances sacs in the chloroplasts

are

A. cristae

B. grana


https://dl.doubtnut.com/l/_DWdMX0FqIg7C
https://dl.doubtnut.com/l/_1txzhp0J4Jzh

C.stroma lamellae

D. stroma

Answer: B

° Watch Video Solution

11. The oxygen evolved during photosynthesis comes from

water molecules . Which one of the following pairs of

elemnets is involved in this reaction ?

A. Maganese and chlorine

B. Manganese and potassium

C. Magnesium and molybdenum


https://dl.doubtnut.com/l/_1txzhp0J4Jzh
https://dl.doubtnut.com/l/_HCclCpQhuqr8

D. Magnesium and chlorine

Answer: A

° Watch Video Solution

12. In photosynthesis, light independent reactions take

place at

A. thylakoid lumen

B. photosystem -I

C. photosystem-ll

D. stromal matrix

Answer: D



https://dl.doubtnut.com/l/_HCclCpQhuqr8
https://dl.doubtnut.com/l/_3AA7rHmYYMXj

I o Watch Video Solution

13. ATP synthesis in cell requires

A. H™" gradient across the membrane
B. K gradient across the membrane
C. POZ_ gradient across the membrane

D.Ca?" gradient across the membrane

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_3AA7rHmYYMXj
https://dl.doubtnut.com/l/_lHvM0HEmjAmh

14. C, pathway is advantageous over C3 pathway in plants
as it

A. occurs in relativity low C'O, concentration

B. uses more amount of water f

C. occurs in relativiely low Oy concentration

D. is less efficient in energy utilisation

Answer: A

° Watch Video Solution

15. Lo

In this process which of the following play important role


https://dl.doubtnut.com/l/_H1k4EoilUMhM
https://dl.doubtnut.com/l/_YJx5tQXaeCOF

A. Chlorophyll
B. Light energy
C.Ca**, Mn**, Cl"

D. All of these

Answer: D

o View Text Solution

16. During photorespiration, which compounds are formed

having 2C and 3C respectively in Perxisome

A. Phosphoglycerate and glycolate


https://dl.doubtnut.com/l/_YJx5tQXaeCOF
https://dl.doubtnut.com/l/_ZY3HCyB92GYK

B. Glycine and glycerate

C. Serime and glycine

D. Glycolate and glycine

Answer: B

o Watch Video Solution

17. how many molecules of ATP and NADPH are require in

formation of two molecules of glucose ? How many calvin

cycles are required

A. 24 ATP, 36 NADPH, 12 Calvin cycles

B. 18 ATP, 12 NADPH , 6 Calvin cycles


https://dl.doubtnut.com/l/_ZY3HCyB92GYK
https://dl.doubtnut.com/l/_9G5O9zMQuN6g

C. 36 ATP, NADPH, 6 Calvin cycles

D. 36 ATP, 24 NADPH , 12 Calvin cycles

Answer: D

° Watch Video Solution

18. An example of CAM plant is

A. black night shade (Solanum nigrum)

B. lemon grass (Cymbopagon flexuous)

C.sugarbeet (Beta vulgaries)

D. snake plant (Sansseviera trifasciate)

Answer: D


https://dl.doubtnut.com/l/_9G5O9zMQuN6g
https://dl.doubtnut.com/l/_UYkSXJcNmN7d

o Watch Video Solution

19. Photorespiration requires this activity by an enzyme

A. hydrolase
B. oxygenase
C. carboxylase

D. ATPase

Answer: B

o Watch Video Solution

20. This is not a (5 plant


https://dl.doubtnut.com/l/_UYkSXJcNmN7d
https://dl.doubtnut.com/l/_c0jzhMg4353i
https://dl.doubtnut.com/l/_b5LfCs1zwxvH

A. Amaranthus

B. Rice

C. Wheat

D. Potato

Answer: A

o Watch Video Solution

21. The visible prtion of light spectrum useful in

photosynthesis is referred to as

A.RFLP

B. PAR


https://dl.doubtnut.com/l/_b5LfCs1zwxvH
https://dl.doubtnut.com/l/_6wELbOfcOd9F

C. VAM

D.VNTR

Answer: B

° Watch Video Solution

22. Cyclic photosphorylation results in the formation of

A NADPH + H™

B.ATP and NADPH + H™

C. ADP

D. ATP

Answer: D


https://dl.doubtnut.com/l/_6wELbOfcOd9F
https://dl.doubtnut.com/l/_oWJM0CKKxeUW

o Watch Video Solution

23. The strong inhibitor substance

photosynthesis is

A. ethylene

B. chloroform

C. dichlorophenyl dimethyl urea

D. yellow light

Answer: C

for

PS

in

o Watch Video Solution



https://dl.doubtnut.com/l/_oWJM0CKKxeUW
https://dl.doubtnut.com/l/_eQtnnGfoHepA

24. How many molecules of ATP are required during the

formation of one molecule of glucose

A.8

B.18

C. 28

D.2

Answer: B

° Watch Video Solution

25. Oxygen released in photosynthesis is formed during

A. oxidative phosporylation


https://dl.doubtnut.com/l/_dvmvFDeChaVq
https://dl.doubtnut.com/l/_Nq8Syb6gfn9O

B. cyclic photophosphorylation

C. non - cyclic photophosphorylation

D. carbon assimilation during dark reactions

Answer: C

o Watch Video Solution

26. Anoxygenic photosynthesis is characteristic of

A. Rhodospitillum

B. Spirogyra

C. Chlamydromonas

D. Ulva


https://dl.doubtnut.com/l/_Nq8Syb6gfn9O
https://dl.doubtnut.com/l/_OQsqwAadDF7c

Answer: A

° Watch Video Solution

27. Identify the incorrect statement(s) in relation to Cjy-

photosynthesis .

A. Kranz anatomy is an essential feature for Cy-plants

B. C4-plants have higer water use efficieny than Cjs-

plants

C. Photorespiration can be minimised when Cj; -

pathway is in operation

D. Conversion of oxaloacetate to malate occrus in the

bundle sheath cells


https://dl.doubtnut.com/l/_OQsqwAadDF7c
https://dl.doubtnut.com/l/_Goif8p8CVadw

Answer: D

o Watch Video Solution

28. Find out the mismatched pair.

A. Cy-plants - Kranz anatomy

B. Primary C'O, fixation product of Cy-plants - OAA

C. Primary C'Oyacceptor of Cs-plants - RuBP

D. Cj5 -plants - Maize

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Goif8p8CVadw
https://dl.doubtnut.com/l/_PT4iDvpED4nY
https://dl.doubtnut.com/l/_5T9RjhMWxrUP

29. (- plants have bundle sheath cells which possess

A.few chloroplasts with thin walls so that gaseous

exchange can take place

B.large number of chloroplasts with thick walls

impervious to gaseous exchange

C.large number of chloroplasts with thick walls and no

intercellular spaces

D. None of the above

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_5T9RjhMWxrUP

30. Which of the following statements regarding cyclic

flow of electrons during light reactions is false ?

A. This process takes palce in the stromal lamellae
B. ATP synthesis takes place

C. NADPH + H™ is synthesised

D. PS-ll, is not involved in the process

Answer: D

° Watch Video Solution

31. The products of light reaction are

A. xanthophyll , NADHPH and oxygen.


https://dl.doubtnut.com/l/_eTtDzarBXW8I
https://dl.doubtnut.com/l/_m7pFBUzNmizr

B. chlorophyll , ATP and NADPH

C. ATP, NADPH and oxygen

D. None of the above

Answer: C

o Watch Video Solution

32. Photosynthetically active radiation (PAR) represents

the following range of wavelength

A.340-450 nm

B.400-700nm

C. 500-600nm


https://dl.doubtnut.com/l/_m7pFBUzNmizr
https://dl.doubtnut.com/l/_AbVjdr1k77KS

D. 450-950 nm

Answer: B

° Watch Video Solution

33. Gross primary productivity is the rate of production

of _ during photosynthesis.

A. organic matter

B. oxygen

C. carbon dioxide

D. chlorophyll

Answer: B



https://dl.doubtnut.com/l/_AbVjdr1k77KS
https://dl.doubtnut.com/l/_7puCPtQcppjA

I o Watch Video Solution

34. Synthesis of one glucose molecule requires- reduced

NADP molecules

A.6

B. 12

C.18

D. 24

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7puCPtQcppjA
https://dl.doubtnut.com/l/_vvLYChGf0bXX

35. Enzymes required for photophosphorylation are

located in ... Of chloroplast

A. peristromium

B. plastidome

C.stroma

D. quantasome

Answer: D

° Watch Video Solution

36. Cy -photosynthetic system is present in plants which

are formed in


https://dl.doubtnut.com/l/_5WiLMyP54Bqj
https://dl.doubtnut.com/l/_2EYLgQdfOoAw

A. cold region

B. hot region

C. Both (a) and (b)

D. dry tropical region

Answer: D

o Watch Video Solution

37. Which element plays a vital role in splitting of water to

liberate oxygen during photosynthesis ?

A. Copper

B. Boron


https://dl.doubtnut.com/l/_2EYLgQdfOoAw
https://dl.doubtnut.com/l/_HFlAGedsXM5W

C. Chlorine

D. Manganese

Answer: D

o Watch Video Solution

38.1n C} -plants , the first stable poduct of photosynthesis

during the, dark reaction is

A. PGAL

B. RuBP

C. PGA

D. OAA


https://dl.doubtnut.com/l/_HFlAGedsXM5W
https://dl.doubtnut.com/l/_izhzv6BY7LZa

Answer: D

o Watch Video Solution

39.1n Cy-plants, the carbon dioxide fixation occurs in

A. guard cells

B. spongy cells

C. palisade cells

D. bundle sheath cells

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_izhzv6BY7LZa
https://dl.doubtnut.com/l/_2dkyAoTPvGNy
https://dl.doubtnut.com/l/_f9IoYfRk6Jch

40. CAM pathway is observed in

A. pineapple

B. maize

C. sunflower

D. sugarcane

Answer: A

° Watch Video Solution

41. In C4) pathway, CO, fixation in mesophyll cells is

carried out by the enzyme

A. pyruvate dehydrogenase


https://dl.doubtnut.com/l/_f9IoYfRk6Jch
https://dl.doubtnut.com/l/_MUXpmV08tCzW

B. pyruvate decarboxylase

C. PEP carboxylase

D. RuBisCO

Answer: C

o Watch Video Solution

42. Which one of the following statements about the

events of non-cyclic photophosphorylation is correct.

A. Photolysis of water takes place

B. Oxygen is released

C. Only one photosystem participates


https://dl.doubtnut.com/l/_MUXpmV08tCzW
https://dl.doubtnut.com/l/_cANCCnarCxJB

D. ATP and NADPH are produced

Answer: C

° Watch Video Solution

43. Photosynthesis bacteria have

A. pigment system -|

B. pigment system-l

C. Both (a) and (b)

D. some other kind of pigment , Py

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_cANCCnarCxJB
https://dl.doubtnut.com/l/_FiZlL2yA7haQ

44. Cyclic photosphorylation links to

A. PS-lI
B. PS-I
C. Both (a) and (b)

D. dark -reaction

Answer: B

o Watch Video Solution

45, The correct sequence of cell organelles during

photores piration is


https://dl.doubtnut.com/l/_FiZlL2yA7haQ
https://dl.doubtnut.com/l/_fhn2PU57OgQo
https://dl.doubtnut.com/l/_8Ym9n3lDqVnH

A. Chloroplast - Golgi bodies - Mitochondria

B. Chloroplast ~ -Rough  endoplastic  reticulum-

Dictyosomes

C. Chloroplast - Peroxisome -Mitochondria

D. Chloroplast - Vacuole -Peroxisome

Answer: C

o Watch Video Solution

46. Kranz anatomy is typical of

A. Cy-plants

B. C3-plants


https://dl.doubtnut.com/l/_8Ym9n3lDqVnH
https://dl.doubtnut.com/l/_uOv4xxNFU40x

C. Cs-plants

D. CAM plants

Answer: A

o Watch Video Solution

47. The essential element needed for water splitting in

photosynthesis leading to O, evolution is

A. Mo

B. Mn

C. Mg

D.K


https://dl.doubtnut.com/l/_uOv4xxNFU40x
https://dl.doubtnut.com/l/_uRZR6wCMnCTn

Answer: B

o Watch Video Solution

48. In overall process of photosynthesis, the number of
CO, water, sugar and (O molecules utilised and
produced is

A. 12

B.13

C.19

D. 31

Answer: D

[ ° WAL _L vl ~_ ..



https://dl.doubtnut.com/l/_uRZR6wCMnCTn
https://dl.doubtnut.com/l/_bqEGODRCMenn

L vvallil vidcoO o0IuLioll ) |

49. During Calvin cycle the total number of CO,, ATP and

NADPH molecules uitlized abd glucose, ADP and NADP

molecules generated is

A. 31

B.38

C. 61

D. 67

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_bqEGODRCMenn
https://dl.doubtnut.com/l/_cp9SmMqsUd3s

50. Which one occurs both during cyclic and non-cyclic

modes of photophosphorylation

A. Involvement of both PS-I and PS-Il

B. Formation of ATP

C. Release of O,

D. Formation of NADPH

Answer: B

° Watch Video Solution

51. In a condensed schematic representation of drak

reaction of photosynthesis gien below , steps are


https://dl.doubtnut.com/l/_I7mkHknX7iCd
https://dl.doubtnut.com/l/_dOQrOR5X2ZNs

indicated by alphabets. Select the option where the

alphabets are correctly identified

RuBP/‘_@\

Unstable compound

PGA
®)
RuMP 1,3 Di PGA
©

®
3 PGA

Glucose

A. A-C'O, fixation , B-Phosphorylation, C-Regeneration ,
D-Reduction

B. A-C'O, fixation , B-Reduction , C-Phosphorylation , D-
Regeneration

C. A-Regeneration , B-CO, fixation , C-Reduction ,D-

Phosphorylation


https://dl.doubtnut.com/l/_dOQrOR5X2ZNs

D. A-CO, fixation , B-Phosphorylation , C-Reduction , D-

Regeneration

Answer: D

° Watch Video Solution

52.In which cells of leaf, pyruvate is coverted to PEP in C,

pathway

A. Epidermal cell

B. Mesophyll cell

C. Bundle sheath cell

D. Guard cell


https://dl.doubtnut.com/l/_dOQrOR5X2ZNs
https://dl.doubtnut.com/l/_JuBCOz6fw7Ck

Answer: B

° Watch Video Solution

53. Cyclic photophosphorylation results in the formation
of :
A.Cyclic photophosphorylation results in the
formation of
B. NADPH
C. ATP and NADPH

D. ATP, NADPH and O,

Answer: D



https://dl.doubtnut.com/l/_JuBCOz6fw7Ck
https://dl.doubtnut.com/l/_B6LJsnnd45jt

[ W Watch Video Solution

54.CAM helps the plants in

A. secondary growth

B. disease resistance

C. reproduction

D. conserving water

Answer: D

o Watch Video Solution

55. Presence of bundle sheath is a characteristic of


https://dl.doubtnut.com/l/_B6LJsnnd45jt
https://dl.doubtnut.com/l/_COvYsaS511qD
https://dl.doubtnut.com/l/_Lklv7BnCDeNi

A. xerophytic plants

B. members of grass family

C. Cy-plants

D. Cs-plants

Answer: C

o Watch Video Solution

56.1n Cy plants, the bundle sheath cells

A. have thin walls to facilitate gaseous exchange

B. have large intercellular spaces

C. arerich in PEP carboxylase


https://dl.doubtnut.com/l/_Lklv7BnCDeNi
https://dl.doubtnut.com/l/_xYoKRzmFJaXL

D. have a high density of chloroplants

Answer: D

° Watch Video Solution

57. Very strong light has a direct inhibiting effect on

photosyntehsis , which is known as

A. solarisation

B. etiolation

C. chlorosis

D. defoliation

Answer: A



https://dl.doubtnut.com/l/_xYoKRzmFJaXL
https://dl.doubtnut.com/l/_DKViAKAnkmyV

I o View Text Solution

58. Plastocyanin contains

A. copper

B. iron

C. calcium

D. postassium

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_DKViAKAnkmyV
https://dl.doubtnut.com/l/_eCD3FbQB5roz

59. Organelles having enzymes involved

photorespiration are

A. chloroplast , mitochoundria, peroxisome

B. chloroplast , mitochondria , lysosome

C. mitochondria , peroxisome , centrosome

D. nuclus , centrosome peroisome

Answer: A

° Watch Video Solution

60. Light reaction of photosynthesis occurs inside

A. stroma


https://dl.doubtnut.com/l/_13bIxdZXMk2v
https://dl.doubtnut.com/l/_mjRVJy1RX74e

B. grana

C. endoplasmic reticulum

D. cytoplasm

Answer: B

o Watch Video Solution

61. Sunken stomata are usually found in

A. Cs- plants
B. CAM plants
C. insectivorous plants

D. phanerogams



https://dl.doubtnut.com/l/_mjRVJy1RX74e
https://dl.doubtnut.com/l/_6raQ8rH7wlK8

Answer: B

° Watch Video Solution

62. A reduction in the quantity of oxygen evolution during

photosynthesis may be observed at

A. light having wavelength more than 680 nm

B. light having wavelength less than 680 nm

C. light having wavelength 560 nm

D. light having wavelength less than 360 nm

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_6raQ8rH7wlK8
https://dl.doubtnut.com/l/_yhuTelkhpRgX

63. Which of the following statements is true with regard

to the light reaction of photosythesis

A.In PS-ll the reaction centre chlorophyll -a has an

absorption peak at 700 nm and is called P

B.In PS-l the reaction centre chlorophyll -a has an

absorption maxima at 680 nm and is called Pgg

C.The splitting of water molecule is associated with

PS-I

D. Photosystem -l and Il are involved in Z-cheme

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_msfuOXhVWtSV

64. Select the incorrectly matched pair with regard to Cjy-

cycle.

A. Primary CO, fixation - PGA product

B. Primary CO, acceptor - PEP

C. Cy-plant - Maize

D. Location of enzyme RuBisCO - Bundle sheath cells

Answer: A

° Watch Video Solution

65. In (3 -cycle for the fixation of every CO, moleucules ,

the reduction and regeneration steps required are


https://dl.doubtnut.com/l/_mSAHfh3kb5qo
https://dl.doubtnut.com/l/_aWYIMxNkHypi

A.3ATPand 2NADPH,

B.2ATP and 2NADPH,

C.2 ATPand 2NADPH,

D.3 ATPand INADPH,

Answer: A

o View Text Solution

66. Which of the following

photorespirations ?

A. Sugar

B. Phosphoglycolate

is

formed during


https://dl.doubtnut.com/l/_aWYIMxNkHypi
https://dl.doubtnut.com/l/_RXNbVL3Eq0yT

C. NADPH

D. ATP

Answer: B

° Watch Video Solution

67. Which of the following is true for photosynthesis ?

A. Reduction of C'O4 and water

B. Oxidation of C'O, and water

C. Reduction of CO, and oxidation of water

D. Oxidation of CO, and reduction of water

Answer: C


https://dl.doubtnut.com/l/_RXNbVL3Eq0yT
https://dl.doubtnut.com/l/_Zqh7UroqpTwd

o Watch Video Solution

68. Which is not related to photorespiration

A. Lysosome

B. Chloroplast

C. Peroxisome

D. mitochondria

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Zqh7UroqpTwd
https://dl.doubtnut.com/l/_GWjlQyxzxZFN

69. With reference to three Calvin cycle , which of the
given options is correct for the following questions ?

l. How many gross PGAL molecules are produced ?

ll. Total , how many ATP molecules are required for
synthesis of PGAL molecules ?

lll. Total , how many NADPH, molecules are required for

the synthesis of obtained PGAL moleucles ?

Al -3PGL,I1I —3ATP,III —-3NADPH,

B.] — 6PGAL, IT — 6ATP, IIT — 6NADPH,

C.1— 18PGAL, IT — 18APT, III — 1SNADPH,

D.1— 9PGAL, IT — ATP, III — O9NADPH,

Answer: A



https://dl.doubtnut.com/l/_m21y0U43Fe1T

{ % vvaldl vVIAco oS0Iution )|

70. C, plants are more efficient in photosynthesis than Cs

plants due to

A. higer plants leaf area

B. the presence of larger number of chloroplasts in the

leaf cells

C. the presence of thin cuticle

D. lower rate of photorespiration.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_m21y0U43Fe1T
https://dl.doubtnut.com/l/_iJpyFRKhOvW2
https://dl.doubtnut.com/l/_Rfjw8Y2Fypuc

71. PGA as the first CO, fixation product was discovered in

photosynthesis of

A. bryophte

B. gymnosperm

C.angiosperm

D. alga

Answer: D

° Watch Video Solution

72.The end products of light reaction are

A. ADP and NADPH,



https://dl.doubtnut.com/l/_Rfjw8Y2Fypuc
https://dl.doubtnut.com/l/_QkaBfBNL2O0z

B.ATP and NADP

C.ADP and NADP

D. ATP and NADPH,

Answer: D

o Watch Video Solution

73. The raw materials for light reaction are

A. ADP and ATP

B. ADP and NADP

C. NADP and ATP

D. ATP and NADPH,


https://dl.doubtnut.com/l/_QkaBfBNL2O0z
https://dl.doubtnut.com/l/_UeiST1LjvoTK

Answer: B

o Watch Video Solution

74.In biochemical phase, fixation of carbon dioxide

A. RuBisCO

B. PGA

C. OAA

D. PGAL

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_UeiST1LjvoTK
https://dl.doubtnut.com/l/_101BwcckCu1k
https://dl.doubtnut.com/l/_glLHE7UzmZ1B

75. What is the source of oxygen liberated in

photosynthesis ?

A. Carbon dioxide

B. glucose

C. water

D. energy

Answer: C

o Watch Video Solution

76. Synthesis of one molecule of glucose requires

A.6CO,, 18ATP and 12NADPH


https://dl.doubtnut.com/l/_glLHE7UzmZ1B
https://dl.doubtnut.com/l/_pfeGPwyK8D2q

B.6CO,, 12ATP and 1SNADPH

C.6C0,, 30ATP and 12NADPH

D.5CO,, 38ATP and 12NADPH

Answer: A

o Watch Video Solution

77. Which of the following is a 4-carbon compound?

A. oxaloacetic acid

B. Phophoglyceric acid

C. Ribulose biosphophate

D. Phosphoenol pyruvate


https://dl.doubtnut.com/l/_pfeGPwyK8D2q
https://dl.doubtnut.com/l/_uf7DXO97pxfQ

Answer: A

o Watch Video Solution

78. Which of the following is incorrectly mathced ?

A. Sarghum - Kranz anatomy

B. PEP - Mesophyll cells

C. Blackman - Law of limiting factors

D. PS-I - Py

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_uf7DXO97pxfQ
https://dl.doubtnut.com/l/_iiuSQ8Z7rdLq
https://dl.doubtnut.com/l/_YfI5nQ3aLx95

79. Which one of the following statements regarding Cj-

plants is false ?

A.The primary CO, acceptor is a 5 carbon molecule

B.The initial carboxylation reaction occurs in

mesophyll

C. The leaves that fix CO5 have two cell types

D. The mesophyll cells lack RuBisCO enzyme

Answer: A

° Watch Video Solution

80. In which type of reactions related to plant


https://dl.doubtnut.com/l/_YfI5nQ3aLx95
https://dl.doubtnut.com/l/_zq1y8h1I70Na

A. Glycolate cycle

B. Calvin cycle

C. Bacterial photosynthesis

D. Glyoxylate cycle

Answer: A

o View Text Solution

81. Chloroplast dimophism is a characteristic feature of

A. Plants with Calvin cycle
B. Cy-plants

C. All plants


https://dl.doubtnut.com/l/_zq1y8h1I70Na
https://dl.doubtnut.com/l/_xOojDYc2CLob

D. Only in algae

Answer: B

° Watch Video Solution

82. Cyclic photophosphorylation results in the formation

of :

A. NADPH

B. ATP and NADPH

C. ATP, NADPH and O,

D. ATP

Answer: D



https://dl.doubtnut.com/l/_xOojDYc2CLob
https://dl.doubtnut.com/l/_i7Oas3472g1F

I ° Watch Video Solution

83. Stroma in the chloroplasts of higher plant cantains

A. light independent reaction enzymes
B. light dependent reaction enzymes
C.ribosomes

D. chlorophyll

Answer: A

° Watch Video Solution

84. Oxygenic photosynthesis occurs in


https://dl.doubtnut.com/l/_i7Oas3472g1F
https://dl.doubtnut.com/l/_fEoXNxip0p6F
https://dl.doubtnut.com/l/_tWvd7NqIylvK

A. Chromatium

B. Oscillatoria

C. Rhodospirillum

D. Chlorobium

Answer: B

o Watch Video Solution

85. Electrons from excited chlorophyll molecule of

photosystem Il are accepted first by

A. cytochrome -b

B. cytochrome -f


https://dl.doubtnut.com/l/_tWvd7NqIylvK
https://dl.doubtnut.com/l/_2sBtHcanqcH7

C. quinone

D. ferredoxin

Answer: C

o Watch Video Solution

86. In chloroplasts the chlorophyll is located in

A. grana

B. pyrenoid

C.stroma

D. Both (a) and (c)

Answer: A


https://dl.doubtnut.com/l/_2sBtHcanqcH7
https://dl.doubtnut.com/l/_ra9CHsV96gco

o Watch Video Solution

87. Which of the following elements is an activator for
both ribulose biphophate carboxylase oxygenase and
phosphoenol pyruvate carboxylase in photosynthetic
carbon fixation ?

A Mg*t

B. Zn> ™"

C.Ca®™

D.SO;~

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_ra9CHsV96gco
https://dl.doubtnut.com/l/_9xW7JcVkxRHC

88. Which statement about photosynthesis is false

A. the electron carries involved in

photophosphorylation are located on the thylakoid

membranes

B. Photosynthesis is a redox process , in which water is

oxidised and carbon dioxide is reduced

C.The enzymes required for carbon fixation are

located only in the grana of chloroplasts

D. In green plants , both PS-l, and PS-ll are required for

the formation of NADPH + H*

Answer: C


https://dl.doubtnut.com/l/_9xW7JcVkxRHC
https://dl.doubtnut.com/l/_fCzgmqfeZAUR

° Watch Video Solution

89. In an experiment demonstrating the evolution of

oxygen in Hydrilla, sodium bicarbonate is added to water

in the experimental set-up. What would happen if all other

conditions are favourable.

A. Amount of oxygen evolved decreases as carbon

dioxide in water is absorbed by sodium bicarbonate

B.Amount of oxygen evolved increases as the

availability of carbon dioxide increases.

C.Amount of oxygen evolved decreases as the

availability of carbon dioxide increases.


https://dl.doubtnut.com/l/_fCzgmqfeZAUR
https://dl.doubtnut.com/l/_O0cI6ExYfamU

D. Amount of oxygen evolved increases as carbon

dioxide in water is absorbed by sodium bicarbonate

Answer: D

° Watch Video Solution

90. In Cy plants, the bundle sheath cells

A. have thin walls to facilitate gaseous exchange

B. have large intercellular spaces

C. arerich in PEP carboxylase

D. have a high density of chloroplants

Answer: D


https://dl.doubtnut.com/l/_O0cI6ExYfamU
https://dl.doubtnut.com/l/_sL3o73ofdoTy

o Watch Video Solution

91. The components of PS-l are located on the

A. stroma

B. stroma thylakoid

C. gramum thylkoid

D. outer surface of stomal and grana thylakoid

Answer: D

o Watch Video Solution

92. Which does not show HSK pathway


https://dl.doubtnut.com/l/_sL3o73ofdoTy
https://dl.doubtnut.com/l/_bPo5B73pRPAc
https://dl.doubtnut.com/l/_gKzwyFttddvm

A. Jower

B. Maize

C. Sunflower

D. Sugarcane

Answer: C

o Watch Video Solution

93. Which one is essential for the respiration as well as

photosynthesis ?

A. RuBisCO

B. Plastocyanin


https://dl.doubtnut.com/l/_gKzwyFttddvm
https://dl.doubtnut.com/l/_u8s2KjcFnV6H

C. Ubiquinone

D. Cytochrome

Answer: D

o Watch Video Solution

94. Oxygen , which is liberated during photosynthesis ,

comes from

A.CO,

B. H,O

C. chlorophyll

D. phosphoglyceric acid


https://dl.doubtnut.com/l/_u8s2KjcFnV6H
https://dl.doubtnut.com/l/_wQaN7FZ5Kppj

Answer: B

o Watch Video Solution

95. How many Calvin cycles are required to produce 5

molecules of glucose ?

A. 60

B.15

C.30

D. 90

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_wQaN7FZ5Kppj
https://dl.doubtnut.com/l/_r8SQ0w9yN71J

96. Which of the following is the first compound that

accepts carbon dioxide

photosynthesis

A. NADP

B. RuBP

C. Ferredoxin (FRS)

D. Cytochrome

Answer: B

during dark phase

of

o Watch Video Solution



https://dl.doubtnut.com/l/_TxybEUf7L6du

97. Which one of the following is not true about the light

reactions of photosynthesis ?

A. Light energy provides energy for the photolysis of

water through excitation of the reaction center of

PS-li

B. The flow of electrons from water to NADP in non -

cyclic electron transport produces one ATP

C. Reactions of the two photosynthesis are needed for

the reduction of NADP

D. Pggp and Py are the reaction centres of PS-l and

PS-Il respectively


https://dl.doubtnut.com/l/_4zCdhxPwH1zq

Answer: D

o Watch Video Solution

98. The enzyme responsible for primary carboxylaylation in
Cs - plants is

A. hexaokinase

B. succinic dehydrogenase

C. pyruvate carboxylase

D. RuBP carboxylase oxygenase

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_4zCdhxPwH1zq
https://dl.doubtnut.com/l/_SRpmTiH3Ghdc

99. In a CAM plant the concentration of organic acid

A.increases during the day

B. decreases or increase during the day

C.increases during night

D. decreases during any time

Answer: C

° Watch Video Solution

100. In the leaves of Cj plants, malic acid formation

during C'O, fixation occurs in the cells of

A. epidermal cells


https://dl.doubtnut.com/l/_fgf5Gqwwmbvb
https://dl.doubtnut.com/l/_AsNvWeOlqPSV

B. mesophyll cells

C. bundle sheath

D. guard cells

Answer: B

o Watch Video Solution

101. the empirical formula for chlorophyll a is

A. 055H7002N4Mg

B. C55H7205N4Mg

C. 055H7OO5N4M9

D. C55 H720o Ny Mg


https://dl.doubtnut.com/l/_AsNvWeOlqPSV
https://dl.doubtnut.com/l/_xLrrPCpS1ep5

Answer: B

o Watch Video Solution

102. The law of limiting factors was given by  in the

year

A. Leibig

B. Blackman

C. Calvin

D. Arnon

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_xLrrPCpS1ep5
https://dl.doubtnut.com/l/_JXbtINuK7EpV

103. In which of the follwoing wavelength , photosystem -I

is inactive ?

A. 780 nm

B. 680 nm

C.690 nm

D. 550 nm

Answer: A

° Watch Video Solution

104. RuBisCO stands for

A. Ribulose Bisphosphate Carboxylase Oxygenase


https://dl.doubtnut.com/l/_6cotOtHz5foS
https://dl.doubtnut.com/l/_X27bvOrCXuiO

B. Ribulose Phosphate Carboxylase Oxygenase

C. Ribulose Phosphate Carboxylic Oxygenase

D. None of the above

Answer: A

o Watch Video Solution

105. DCMU (Dichlorophenyl Dimethyl Urea)

A. inhibits PS-I

B. inhibits PS-lI

C. destroy chloroplast

D. inhibits oxidative phosphorylation


https://dl.doubtnut.com/l/_X27bvOrCXuiO
https://dl.doubtnut.com/l/_Tn1R9AKLOxco

Answer: B

o Watch Video Solution

106. N H; is released from

A. photorespiration

B. dark respiration

C. CAM

D. All of these

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_Tn1R9AKLOxco
https://dl.doubtnut.com/l/_YOmYkPcY57JM
https://dl.doubtnut.com/l/_lW0LC4plbTrr

107. Photolysis of water by isolated chloroplasts was

demonstrated by

A. Hill

B. Liebig

C. Van Neil

D. Calvin

Answer: A

° Watch Video Solution

108. First reaction in photosynthesis is

A. photolysis of water


https://dl.doubtnut.com/l/_lW0LC4plbTrr
https://dl.doubtnut.com/l/_Z50f3JxtCd2L

B. excitation of chlorophyll moleucles

C. formation of ATP

D. fixation of CO,

Answer: B

o Watch Video Solution

109. In CAM plants, COy required for photosynthesis

enters the plant during

A. day time through the lenticles

B. night through the stomata , which are kept open

C. day time when the stomata are open


https://dl.doubtnut.com/l/_Z50f3JxtCd2L
https://dl.doubtnut.com/l/_BYbSWtpxG1kO

D. night when the hydathodes are open

Answer: B

° Watch Video Solution

110. Photosynthesis cannot continue for long if during
light reaction , only cyclic photophosphorylation takes
place. This is because
A.only ATP is formed NADPH'™ + H*' is not
formed
B. photosystem -l stops getting excited at a

wavelength of light beyond 680 nm


https://dl.doubtnut.com/l/_BYbSWtpxG1kO
https://dl.doubtnut.com/l/_8sdjKdzMcz0j

C.there is unidirectional cyclic movement of the

electrons

D. there is no evolution of O,

Answer: A

o Watch Video Solution

111. Consider the following statements

(A) The portion of the spectrum between 500nm and 800
nm is also referred to as photosynthetically active
radiation (PAR)

(B) Magnesium, calcium and chloride ions play prominet
roles in the photolysis of water

(C) In cyclic photopphosphorylation, oxygen is not


https://dl.doubtnut.com/l/_8sdjKdzMcz0j
https://dl.doubtnut.com/l/_Ic7mhk1EHnNh

released (as there is no photolysis of water) and NADPH is

also not produced

A.lis true, but Il and Il is false

B.l and Il are false , but Il is true

C.Ilis true, but | and Il are false

D.land Il are true, but Il is false

Answer: C

° Watch Video Solution

112. Which of the following statements with reagards to
photosynthesis is/are correct

(A) In Cy plants, the primary CO, acceptor is PEP


https://dl.doubtnut.com/l/_Ic7mhk1EHnNh
https://dl.doubtnut.com/l/_FdFSf9Trsulc

(B) In the photosynthesynthetic process PS Il absorbs

energy at or just below 680nm

(C) The pigment that is present in the pigment system I is

P 683

A.only Il

B.Only |

C. Only il

D.land Il

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_FdFSf9Trsulc

113. Consider the following statements regarding
photosynthesis

(A) ATP formation during photosynthesis is temed as
photophosphorylation

(B) Kranz anatomy pertains to leaf

(C) Reduction of NADP * to NADPH occurs during Calvin
cycle

(D) In a chlorophyll molecule mangesium is present in

phytol tail

A.l and Il are correct

B. lll and IV are correct

C.l and lll are correct

D.l and IV are correct


https://dl.doubtnut.com/l/_LS4Bkcghj6HP

Answer: A

o Watch Video Solution

114. How many full turns of the Calvin cycle are required to

make one molecule of glucose

A. two times

B. four times

C.six times

D. eight times

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_LS4Bkcghj6HP
https://dl.doubtnut.com/l/_lOGSvpjArs0Z

115. Photosynthetically active radiation (PAR) represents

the following range of wavelength

A. 400 — 700nm

B. 450 — 950nm

C. 340 — 450nm

D. 500 — 600nm
Answer: A

° Watch Video Solution

116. The carbon dioxide acceptor in CAM plants is

A. RuBP


https://dl.doubtnut.com/l/_AkXp8AOxy6uM
https://dl.doubtnut.com/l/_m84lFj3UjwJZ

B. PEP

C. OAA

D. PGA

Answer: B

o Watch Video Solution

117. Plants adapted to low light intensity have

A. larger photosynthetic unit size than the sun plants

B. higher rate of C'O, fixation than the sun plants

C. more extended root system

D. leaves modified to spines


https://dl.doubtnut.com/l/_m84lFj3UjwJZ
https://dl.doubtnut.com/l/_7wxqwy00pqUK

Answer: A

o Watch Video Solution

118. Photosynthesis is maximum in

A. green light

B. blue followed by red light

C.red followed by blue light

D. blue light

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_7wxqwy00pqUK
https://dl.doubtnut.com/l/_KRJz5MzyqQvq
https://dl.doubtnut.com/l/_sqUA5y1Scs41

119. PS-l and PS-ll , were discovered by

A. Robert Emerson

B. Blackman

C. Robert Mayer

D. Arnon

Answer: A

° Watch Video Solution

120. In photosynthesis , energy from light reaction to dark

reaction is transferred in the form of

A. ADP


https://dl.doubtnut.com/l/_sqUA5y1Scs41
https://dl.doubtnut.com/l/_eUeHvZMPh8zg

B. ATP

C. RuBP

D. chlorophyll

Answer: B

o Watch Video Solution

121. C; plants differ from C3 plants with respect to

A. number of ATP used

B. substrate, which accepts the CO5 molecules

C. the final product

D. number of ATP formed


https://dl.doubtnut.com/l/_eUeHvZMPh8zg
https://dl.doubtnut.com/l/_dSLY5Vm6w9BS

Answer: B

° Watch Video Solution

122. The absorption spectrum of chlorophyll

A. shows that some colours of light are absorbed more

than the others

B. approximates the action spectrum of

photosynthesis

C. explains why chlorophyll is a green pigment.

D. has all the above properties.

Answer: B

f 1


https://dl.doubtnut.com/l/_dSLY5Vm6w9BS
https://dl.doubtnut.com/l/_0DRyroiiLUUH

I o View Text Solution

123. In grana of chloroplast , the

ADP + 11 = ATP during day shows

A. oxidative phosporylation

B. photophosphorylation

C. substrate level phophorylation

D. dephosphorylation

Answer: B

reaction

° Watch Video Solution



https://dl.doubtnut.com/l/_0DRyroiiLUUH
https://dl.doubtnut.com/l/_zol5A2dqW7ZS

124. Photosynthesis in C, plants is relatively less limited
by atmospheric CO, levels because
A.four carbon acids are the primary initial CO,
fixation products
B.the primary fixation of CO, is mediated vin PEP
carboxylase
C. effective pumping of C'O, into bundle sheath cells

D. RuBisCO in Cy-plants has higher affinity for CO,.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_n8MKLp4d3MGZ

125. photoyisis of each water molecule in light reaction

will yield

A. 2 electrons and 4 protons

B. 4 electrons and 4 protons

C. 4 electrons and 3 protons

D. 2 electrons and 2 protons

Answer: D

° Watch Video Solution

126. Which of the following is incorrecty in relation to

photorespiration ?


https://dl.doubtnut.com/l/_Rixwa0H4g4zQ
https://dl.doubtnut.com/l/_P30MEtAAAAES

A. It releases CO,

B. It is a characteristics of Cs-plants

C. It occurs in chloroplasts

D. It occurs in daytime only

Answer: D

o Watch Video Solution

127.1n sugarcane plant ~ (14)CO, is fixed in malic acid, in

which the enzyme that fixes CO, is

A.ribulose phosphate kinase

B. fructose phosphatase


https://dl.doubtnut.com/l/_P30MEtAAAAES
https://dl.doubtnut.com/l/_5BKIF94090bQ

C.ribulose biphosphate carboxylase

D. phosphoenol pyruvic acid carboxylase

Answer: D

° Watch Video Solution

128. The primary CO, acceptor in CO, fixation in Cy
pathway is

A. phosphoglyceric acid

B. glyceraldehyde phosphate

C. phosphoenol pyruvate

D. oxaloacetic acid


https://dl.doubtnut.com/l/_5BKIF94090bQ
https://dl.doubtnut.com/l/_x43GyZ5zefhP

Answer: C

o Watch Video Solution

129. During photorespiration, the oxygen consuming

reaction (s) occur in

A. stroma of chloroplasts and mitochondria

B. stroma of chloroplasts and peroxisomes

C. grana of chloroplasts and peroxisomes

D. stroma of chloroplasts

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_x43GyZ5zefhP
https://dl.doubtnut.com/l/_sKLa5EqqADwi

130. In photosystem-I the first electron acceptor is

A. ferredoxin

B. cytochrome

C. plastocyanin

D. an iron - sulphur protein

Answer: D

° Watch Video Solution

131. Photosynthetic enhancement with flashing light was

first observed by

A. Benson and Calvin


https://dl.doubtnut.com/l/_fchUfWqHrlnX
https://dl.doubtnut.com/l/_Wbf8ClV2g2Cq

B. Hill and Calvin

C. Hatch and Slack

D. Emerson and Arnold

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Wbf8ClV2g2Cq

